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Lecture 1

e What is Grammar?
e Grammar: is defined as the rules that say how words are combined, arranged and
changed to show different meanings.

e el W juad 5 L i 5 Gl pand 4y CaSiala 68 Gl ae ) @l gail) iy jad oy gl
14k

E.G. teacher, student, question, asked

e.g. 1.The teacher asked the student a question.caltall Jluy aleall o) saie dalea W & jedad cilalSl s

e.g. 2.The student asked the teacher a question.alzall Jluy callall (5 Al dlas maai® Cagi il s (Saas

The largest unit of grammar is the sentence
alaall & 2alll o) il 3aa g S

Sentences: A Sentence is a group of words that expresses a statement, question, command or
exclamation. A sentence consists of one or more clauses, and usually has at least one subject and
verb
len) 5be o sind Aleall omatll 5 51 Jlsadl Gl e e ) LS (e de gana A dleall; ddaal)
Jads JBY) e aaly Jeld Lo (ggiai Ulle 5 | SSI ol sasl 5 (5_pad

Types of Sentences:

1. Statemen: S\
A sentence which gives information. (Declarative) 4 3 ) 43y yai Lyl o
e.g.He is studying. 4=l o sy pead alan g anily alea o8 i (o i) Gadd e Gila sl Llac)

We can make statements either affirmative or negative.
difie 5l giia 4l aleal) Jani o) (Sae
v e.g. 1.l have found a mistake already. (affirmative)

Sl & il (e alia Ales aleal) o3a

Ml ot
Wm0y
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v" e.g. 2.1 have not found any mistakes yet. (negative)
Gl Jad) 8 oY) alead) Jad < S50 LY 4giie dlaa alaal) o2

dziie dlea oS5 Alaa (B @i 13 not - any - yet)<jlelS 252 g Badls

2. Question: J/sl

A sentence which asks for information or makes a request.(Interrogative)
Gl o aali ) daglae g Jhd alen a5 dnalgiin) alas Liay) auy

e.g.ls he studying? (wo% s Ja ) 4astes oo Jly la

e.g.Can | go study? (oo cady o) Al Flaudl Gallay ) Gl e 38 Uia

3. Command : =3 5l #) 8 gl el aad ales

A sentence which gives an order or makes a suggestion. (Imperative) 4xia 4laa Liay) auiy
e.g.Go study. (oo cadl) 5 b lia

e.g.Be careful! (4l ) (o5 (e 525 7 i Lia

4. Exclamation :  4uaail)
A sentence which is used to express thespeaker’s feeling or attitude.
Aol o) Ca8ga gat Gaatall jelia Ciia g a0d0us
e.g.What a lovely day!ldies a s (e 4l
e.g.Excellent! ! lies
o grdi iy dixadial) cpiilaal) B

«* Exercise

Identify the type of each of the following sentences

a. statement b. question ¢. command d. exclamation
4a e aadd €) 25 g ilaay
1. How often do you come here? (b ) shs 0o Cadi b (1) 22
. . . L day S Jadll g et dedle o gl i dnsas alea
2. How interesting this article is! (d ) p o s = Y

Jelall

alen ol 4leal) o3 (Slp | o gl dlaall o) oG

., |
3. Hurry up before the train’s departure!( ¢ ) oY Aism Aleal Al dpiaes

? o n -
4. How interesting is this article? ( b)) (F) 255 n dashea 0o o

Laslaa 0o e 3 00 i

5. This article is very interesting. (a )

;ﬂ( ,@assrar_atket t PN Ao e +SEEAQALE- 00V VAADY ol )t~ Asasdall! Slaiill Jgbnd) 3l Rowiokiund




Simple, Compound and Complex Sentences: ixall 5 45 jall 5 alasinl] alaal)

1. Simple:The man is here. 4w 4lax 13 Jla - Jzé - Jeld

2. Compound: The man is here, andhe wants to see you. 4 s 4laa ciaald and Ll

3. Complex: The manthatwants to see you is here. sdizs 4lea Cianial s alaall ) That Lical
We will discuss compound and complex sentences in detail in the coming lectures.
Verbs:The verb is the central unit (nucleus) of an English sentence.

5 lai¥) axll) 8 aleall ddas siall san gll 8 Jal
Verbs can refer to actions,

v" e.g.run,walkand talk, Ul J8 e Sasd Sl
v or states, e.g. want, have and be. p=3dll s e ati Ua

Main vs. Helping Verbs: o3 buall Jad¥) i dglual) JladY)
Each English sentence has a main verb.
bl Jad o (g gind 4y jlas¥) Al (8 ades S
v e.g.Mohammed walked home.
Walked (b)) Jadll sa:
v e.g.Khaled is happy.
Is (b Jadl) sa:
Some sentences also require one or more helping verbs (auxiliary verbs).
DASI b asl g aebia Jad e (g giad Jaall (e
v"  He iscoming to the meeting.
Is: a4l e lua Jd il
Coming : pulus) Jad )
v He couldcome here soon.

Could: 4k & 3la) o) el J2é )
;-.ﬂ)

Come:s bl Jad '
E W @assrar_atket : plufidogems “6H-ANAEE-+COVAYADY ol 1 - Aueulall Sladhld Jotalt 3yiga




e Helping verbs (auxiliaries) include: (AGIS (4S5 Baslucal) JladY)

Yl imny b gulad Jlad | 535S,

1. be (is, am, are, was, were)

2. have, has, had Heis here : Ji

3. do, does, did bl Jad il [ Ua

4. Modal auxiliaries: can, could, shall, should, will, would, may, might..etc.

ey S b ety | g Ul a1 A0S Jladl

R/

% Exercise:

Identify whether the underlined verb is the main verb or the helping verb of each sentence
below.

a. main verb b. helping verb
1. Students like fast food. (a) bl Jad ga
2. He has enough money for the trip. (a) (DA Jad a0 Y 45 ) pul) Jad 2

3. Khaled doesnot want to go to school today. (=l¥) Jadll awant oY ) aclue Jad

(b)

4. He is helping me wash the dishes (a) (aebosall Jadll sajs V) (o) Jad

5. He will arrive shortly. (b) (Y1 J2il) saarrive OY ) aclua Jai s
Transitivity:

Verbs are divided into two groups based on transitivity:
g sadl) a8l ) e e sene ) andis JladY)

1. Intransitive verbs: are verbs that require no objects.

.............................

A d)u.o C\ﬂ;ﬂ kfm Aleéy) o :‘é.\’:\.«d\ Jadl)
A. Monotransitive verbs: are verbs that require only one object

aly 4 Jsria e g giad Sl iyl a

o
el atern
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v e.g. Khaled broke the window.2alg 4 Jpda o s giny
B. Ditransitive verbs are verbs that require two objects. 4 (¥ s2ie e (553 Al JladY) o
v' e.g.Saleh gave Majid apen. 4 (¥ grda o s 58y

R/

% Exercise:

Decide whether the underlined verbs are:

a. intransitive b. monotransitive c. ditransitive
1. The student needsapen. ( b ) sl e diil o ied
2. Ali toldhis friend a joke. ( c) 4 Q¥ srde o (5 i
3. Students studly. (a ) 4 dede o s Y
4. Students studybooks. ( b ) a4 Jsrde o s 5iay

Note: Some verbs can be either intransitive or transitive.

dlaall s 138 g da Y (oS0 BB g dgdatia ()¢S5 28 JladY) (jany z diada

e Direct vs. Indirect Objects: il il 4 Jgrdall aa 3L 43 J s2dal)

As we saw in the previous section, ditransitive verbs take two objects. One of these objects is
called a directs object and the other one is called an indirect object.

(direct Object) sl 42 Jsaia )5S pete 2nl5 43 (Y snie 230 JLadY) (any Gidl andll A Ll LS
(indirect object ) it s 4 Jsaie 058 AV
The indirect object comes first followed by the direct object in this example:
lsall s Jsmiall & s S G G slaa sl 4 O priall s3le
v' e.g. He gaveme a book.
Me: il e 43 Jsnia
ABook: _ilw 4 Jsmia

The indirect object is typically personal as in “me” in the previous example, and “the man” in the
following example:

S el 3 a5 ) Sl b S e e oamd s ale e i) 43 J gadal

o
el atern
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the man: asd s 5 il e 4 Jia
aquestion: Al 4 Jsada
The indirect object is often equivalent to a prepositional phrase with “to” or “for”

v' e.g. He gave a book to me.
v" e.g. He bought a gift for his son.

€ alaall B bl pe s 8l 4 Jsriall G el
kel i dsila 1 He gave me a book s Js¥1 Jld) J) kil : J i
Jlis L 8Lall 4y Jgndall 5o " QUSI " 03 " S ael € el 3
oSl e Jsadall A MU Aoy (A elael L € ol slae 1 Lial
O LM e a9 ) e il e r S QU 8 il

(U L P B PN VS 35S IVC PR WY [ PN P L PEVA

L) e a4 Jgmdall o M LA"
AV 8 Y sl ela B 3Ll e 4 Jemdall S 132 s el AT Jhse ) L
¢ OSal) Gy o (S Jed L o) Jgmiall oaay sla o5 4G

¢ e e Joniall &3 Yl pdlall Jgmid) b o (S o
Culia ya Cioa padiiad O cag Alal) sda 3 (STy L aai 1 oa igadl 138 e syl
tob WS Aaall it i 0S5 for S to Ll Lails sas

Lkl e Jedd) (5) Jall s (4) il Jsiall (3) dadll (2) deldli(1)
Y1 bl Jsasall Gl Gums a5 3¢ Gibiall i) S 3as (oS JaaY

. dadll |, gavedell ; He il o2 4He gave a book to me .
e e Jeddl Lo mes Goa L tookldl Jseidla book
rileallsda i L 1 She bought a present for her .. S Jadl

»ca, forodladl Jseidl L a present dadl .. boughtd=WiShe

;-.ﬂ)

.
el atern
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,ﬁf ’@assrar_atket PN Ao g +OEEARAEE- 200V YAADY ol ot —duaulald! Sladill Jolnd) 3yi00




Lecture 2

0,

¢ What is a phrase?

A phrase is defined as two or more words that function together as a group.
ac ganeS Lae o Al JS) o) (el e ) sS05 1 5l
v' e.g. The old man walked down the street.

The old man : Jeld gl e s

There are a number of phrase types in English including:

1- noun phrases, (“-’MLGJAA “-’-*3') aaau) o jlall -1
2- verb phrases, (Anlnd aloan 4nd) anledl) 5 jlaall -2
3- adjective phrases, (hon s alen 4nd 5) Aginiglen 4nd ) 4iaill o Lall -3
4- adVEfl?l?l phlra:‘es o Syl 4k alen 4ud ) asi Bl o el -4
5- prepositional phrases. (saesta das 405 ) 55 mally Jalls e =5

Each phrase has a head and one or more modifiers.
Jak (e ST 5l as) s Jands sl el Led 5 ke dS

The Noun Phrase (NP):

A noun phrase (often abbreviated to NP) is a convenient term for any of the following:

(NP) ) »aidiLa i

1. A Noun:e.g. Ahmed, students
GO daaf Jia s
2. A Nominal Group :e.g.a blue pen, the students

Each nominal group has a head and one or more modifiers.
Ol (550 alh e el A ganall
Jira (e SS) g 2al g Jana g aalg (ol ) L dpanad 48 gana S

o Modifiers add to, change or limit the meaning of the head in a phrase. The head is the
word that determines the type of the phrase.

5_lalle gianatiiilidals) geud g 5 Ll Jliinatodall g justallinit e anall

o For example, the word “pen” is a noun that can refer to any kind of pens. When we
modify it as in the previous example “a blue pen”, we limit the noun so that it can only
refer to a specific kind of pens.

: : Y

el atern
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Alil) £ g5 Liaaa U (3,00 all ) ey Jutadll day Y1 (4 £ 53 () () i B a2 ((al8) Aals
Some other examples:

Ahmed’s des, ) Uglb puaid 2aa) g paddl) 13 g Gaddld saiaa 4 4l glalllia

a book store, Sl Jas it S g 5e0 gl ddae s Janal) L

the student, alal) grnatd "IN iy i) 311 oada s g adaa pla calla Ui

3. A PronounA pronoun is a type of “pro-forms” which are defined as forms used instead of
other forms. Instead of using the nominal group “the old man” we can use the pronoun “he”.
Pronouns

SAY Zialll (e Yy Lasiiunall ZAalll A 5 4l sall Ziall) o) oaysall Zilaill (3a £ 53 sA paiall

(he) saall ardiui(the old man) aladdu) e Ju

«* Pronouns Include:

a. Personal Pronouns: 4xadill siladll

Subject Pronouns Object Pronouns Possessive Pronouns
Jeldl) jilasa 4 Joadal) jilaa sl jilac
I, you, he, she, it, we, they. | me, you, her, him, it, us, them | mine, yours, hers, his, its, ours,
theirs
b. Reflexive Pronouns:  4slSady) silaal)

myself, (i

yourself, il

himself, 4«

itself  J8al) il lgudl | Awdl

c. Indefinite Pronouns:  o3iaa jul) jilal)

everyone, someone, something ld |, Lgadd, alyds
4. A Pronominal Group : el 48le 33 (5 e de gana

v egweall, lue cal
v' e.g.everyoneinourclass  llaé 8 awall

sl eh <
vl ot

ﬁm’ ,@assrar_atket t Ao game +OEE-ARALE- 200V YANDY ol 1 - Auaulall! Sledill Jolaud) 3)lg
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In a pronominal group, a pronoun is the head. The pronouns “we”and “everyone” in the
previous examples are the heads of the pronominal groups.

"everyone" s "we" silaall Ll )l sa jraalle jrecallABle 53 jasde ganad
el 53 yacmile gendlsly eriiillilicL
.‘

s Exercise

Identify the type of the underlined NP.

da. noun

b. nominal group C. pronoun d. pronominal group

daan 4c [P ").L:AXS“ e b yle
1. The children wentto bed late. ( b ) ) TR 08 B

il g ;
2. I made this cake myself. ( c) oS8 e ([ e A5

Al A8 gana A GlS 3 e 3 le
3. Ahmed owns an expensivecar. ( b ) o o=

| |
4. Khaled bought a book. ( a ) o

S R N PR A 9
5.The bookishis. ( c ) ol ¢ Sl yana

6. Someone in our office forgot to lock the paall Glate s
door. ( d )
e Nouns

Nouns can be divided to:

1. Proper Nouns:e.g.Ahmed, Al-Ahsa

A proper noun is the name of someone or something that is usually imagined to be unique.
Jpee gl Ae 5 e b Al ) galy (o8 ) padd anl b dagaall clan)

el ey jaee gadd 4l @l 4 iy dea) sl pend Ladie — daa)

("Y1 anmal) slawl) a 638 ) slua¥) Loy Gree ASe 4 Gl b jhady sl gens Ladie — slua)
2. Common Nouns:e.g.friend, desk, bird, air

A common noun is a name given either to an example of a class or to the class as a whole.
“Friend” refers to one example of a class in the following sentence:

JSS A g) Lima 4id Jo Yl Lol (3l 1) acd) g8 ALl placa)

__/ﬂ)

O

= " - R o
")'.a‘: ’@assrar_atket :thh!."w SBEL-AAALE- 00V YANDY ‘p'!’" -M' :‘WJ’N' 3lse
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v' e.g.1. Ahmedis a good friend. dalg gadd ) ) 2l Ao agdilia
“Friend” refers to the class as a whole in the following sentence:

v' e.g.2. A friend is somebody we like and know well. JsS 4idl) Jo 3423 Uia
“Friend” in example

v e.g.3is called a genericnoun. al& awl Ua

% Exercise

Identify whether the underlined noun is:

a. a common noun (example of a class) b. a common noun (generic) C. a proper noun

<l o e e ol

1. Mohammed gave meapen. ( a)

OSS 2l e JBe ane o

2. A penis an instrument used for writing.(b )

Gl e Jhe Sl ol

3. Khaled’s carisnew. ( a )

: — 3
4. Khaled has a new car.(c ) Opre add e 2 gay

45l e aza aul
5. Fruit is good for you. (b) - et I =

» Common nounsare usually found in nominal groups to help the speaker say which
particular example of a class he has in mind.

Al A Goha Al L) 4l o b J 8 A sl aelud drenl 4 gana 8 ()5S0 Bale 48 iR elan)
v' e.g. 1. The studentswere waiting for the teacher.

The students: «_adll 31a) Ldial La amg diaa \:\AJ @H\‘}a@w Uaaa Jy aullaly & (F sﬁ:.\ﬂ‘du&
ﬁﬂjbdmmu

The teacher: Casald Ciy il 3131 LiAa) La day ¢uas 13 g aal g plra Uada gy clalzal) area o8 Giaadi ol Uia
4.5):.43 [REES

v’ e.g.2. The teacher’s desk is new. alaall 3 gai 4 glall (o)) A g 41 gUal) 4id saa Lia

__/ﬂ)

O

= " - R o
")'.a‘: ’@assrar_atket :thh!."w SBEL-AAALE- 00V YANDY ‘p'!’" -M' :‘WJ’N' 3lse
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» Proper nouns will not normally be modified this way. In other words, modification
differs between a common noun and a proper noun.

Proper and common nouns (as well as pronouns) can refer to something animate or inanimate.
il anY) g LA Al G ity il | A ey A8 lall Gl () ghany Y salal) b rdsalial) plend)

Aas 5 o IS W s o (San (Lilanall L) 5) cansiall a1 5 L) ansY!
a. Animate

Animate nouns refer to a person or animal. () s> ) alddl

v' e.g.Ahmed, friend, bird
b. Inanimate e
Inanimate nouns refer to a place, thing or an idea. 3,88 o) (28 o 1Sa () a3 salead) cla¥)

v' e.g. Al-Ahsa, desk, air, freedom

Count vs. Mass Nouns 3253z al) aa 83 gaaall elan

Nouns can either be countable (count nouns) or uncountable (mass nouns).
Count nouns such as “friend” and “man” can be preceded by “one” and may

have a plural form such as “friends” and “men” which can be preceded by a
number higher than one,

friends - Jia ¢ gea Gia Ll S5 o (Sas one 3alS 08 (e Gidsdman - friend  Jieas saeall claw)
aadsie ST Taae Ledua o oS @l smen

v e.g. “two friends” and “ten men”.

Mass nouns such as “bread” and “milk” cannot be preceded by “one” and
do not have a plural form.

e lliraalelad s "one" Guali€aY "milk" 5 "bread" Jis 33532 ualiclany)

Some nouns can be used as both count and mass nouns according to the
speaker’s meaning.

Caanidl Giadd Wy 2gama e 53 50ma and S Leaddind (S claw¥) iany

v _e.g. 1. Light travels faster than sound. (mass noun)sdgiaa & Siela L
v_e.g. 2. There are two lights by his desk. (count noun)sdgize Cela Ua'

Sy /W @assrar_atket ; plufidagane SH-AAALE- 00V YAASY ol ) - Ruauladll Siodill Jolad 3yige
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Collective Nouns: daclaall slan)
A collective noun is a singular word used to refer to a group.
@jm‘sl\ﬁjuyadaiﬁﬁd_)uus}é‘scw\ e-mY\

v e.g. family, (sl (w2
v’ e.g. team, public .0l (e ds gaza

A collective noun can be followed by a singular verb (e.g. is) or a plural verb
(e.g. are). It may be associated with a singular possessive form (its), or a
plural one (their).

darpana SllNEE) 418 .(e.g. are) CA;JMJT(e,g, is) 3 8l lady & o) Sa ‘é_c\.a_al\ oY)
P

(their) aesll LS dapaji(its) 3l
v' e.g. 1. Our team is the best. Out team are the best.
zanaa LaadS(are) 5 (is) 3 S

v e.g. 2. Ahmed’s family moved to its new home. Ahmed’s family
moved to their new home.

znaa L3S (their) 34 (its) 3e CuiS

Note: It is reasonable to be consistent when using collective nouns as either singular or
plural. In American English, they are frequently singular, while they are more
frequently plural in British English.

Al ARl 6 aend) Ay 51 3 el Ay Lol 4381 s ()55 ) Ao lead) eland) alasivd sie J inal) e
Ay ) Al Al 3 el Ay (055 K1 Ly 3l Ay (585 (la Y] (0 S 8 A5 e

< Exercise

Decide whether the following NPs can be followed by:

a. a singular verb b. a plural verb c. both are possible
1. Ahmed’s young brother ( a ) ST PGP RV EN RPN
2. hisfamily ( c) aox ol - Adlile

3. juice ( a ) dsdra p& anl - juac

4. the company ( c ) aaa anl - a8 )

5. men ( b ) e dapa - s

15




Lecture 3

e Modifiers:In our previous overview of phrases, we mentioned that each phrase
has a head and one or more modifiers.

e e S) 5l Jara g anl s Gl ) Led 3 5ladl () U S5 280 @l jualadl) b

Modifiers can be divided into two groups:

1- Pre-modifiers are modifiers that come before the head.
2- Post-modifiers are modifiers that come after the head.

PO gaaa ) G dral) andll

1-pre-modifiers : il J AU

2-post-modifiers: (il ay AU

Take a look at the following noun phrases (NPs). 4l Aea) &l jlad) e 5 i LAl

a good friend
my school friends
the headmaster of the school
the desk
headmaster’s
several students
we all
everyone in our class

| 2y
[ & | o
\ S / W @assrar_atket : pladiassane ~St-ARAEE-+00V+YAADY S - Aadalt Sladil Jybond) 33134 CECTITRTE
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When the head is a noun, modifiers usually precede it. Phrases like “of the
school” follow it. When the head is a pronoun, modifiers normally follow it.

Jie @l jle Vardl (585 Ladie 815 4B OVl sl Gl Il () 50 Leie
paall 3y A5 @Vl Gl Ladl (of the school - in our class )
Adny OYaxa a2 13 head  els Ua juealls

e Pre-modifiers in the previous examples include the following main
classes of words: lalSll 4 H) Gl Jadd 4siluad) alia¥) 8 4kl <Y anll
W (|

1. Adjectives (e.g. good) ald C¥ sl (e Caiai(good) die slewl) Jodad lia

2. Nouns which modify other nouns (e.g. school)

alex 8 school  4alS Jie bl ¥ asall (e Chinais A placd Jand plaw)

friends i)l Jaeschool ax¥l la My school friends

3. Determiners (e.g. a, the, my)  EaY Juadilly 4d8ling cilasaal)

X/

o Exercise

In the following phrases, decide which of the underlined words is:

a. the head b. A post-modifier c .A pre-modifier
1. a big store (a) (a- big) L Galaeas Buws el 1) sa( store)
2. the store manager (c) k8 Jaa(store) o)) & (Manager)
dad b L&) Jamall 5 ja) sl e Jae ol
ol
3. the leader of the group (b) Jaxs (of the group) w1 sa(The leader)

lalia o =8 Y the leader Js& Laxiad (gaay
e (] AiEl) aaas e LGaela Jasall 13l

4. the group leader (c) sla Ladf 5 Jandll sa(the) oY) sa(Leader)
L Janega 131 ¢l ) U8
5. someone in my office  (a) @4 Sy paall 5l )l sa(someone)

dama & 5 (in my office ) somas Jad jbay
Yy aiii yilauall Bale 43 LS5 LS gamy
Ol aliza 8 Bawd elan¥) Glld e g 430e
Aol Y e

17




Determiners:Determiners are words which specify the range of reference
of a noun by making it

alza 3ah e andl as jall (g2 23a8 GlalS e B e 4 sl
Definite—_zs
v e.g.(the book)

5 ainnall (s (QUSI) Jy QS (5 Gl cadae Catadh Uil 1aghans Lald (Ul U8 Lavie Ligh
QU 138 2 5my 1e e | galay g4 galasinaiiall

Indefinite  (Jsene) Cae &
(a book) S i () iy 38
Slaie o) dpeS T jndia

CESI (e Ama 4peS 20a

by indicating quantity

(many books)

Determiners can be either identifiers or quantifiers.
dasl) gadaa g) cld ma (oS () CpaSy Cilaaaal)

1- Identifiers: tell us either definitely or indefinitely which noun the
speaker means.

Qe pe qmgd&&:ﬂ\a@gﬂ\ﬁw OS 1 L G pas

They include:Jadi cid pal)

a. Articles:<) s

b. Demonstratives:
SJMY\ ;Leu\

c. Possessive Forms of
Personal Pronouns

AL jilaall 4 8L dapa JISS)

a/an (indefinite articles)
Y Lad Ciy et il gal

2 A ds a2
Crsiilly 8 ym

the (definite article)
e\»‘}“ A8 Cay y2d 30

ole Coniall aclud 40 538
Gaaty (Al s a8 ga an
Al A5 jLaY) g e
Luall

this, that, 2l

these, those geall

my, your, his, her,
its, our, their

13 G Y ana Ll e Caial
L) 20a ol ) Lalis)

;ﬁ_‘ v@assrar_atket t ¥ Ao game +OLE-ARALE- 00V VYAADY Lol 1 —Auaulald! Sledill Jolnd) 3y e
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2. Quantifiers:tell us either definitely or indefinitely the quantity of the

noun.

They include:Jeds 4asl) gadaa

a. Numerals:aacY)
(cardinal numerals)dssbuy) lac Yl
one, two, three
(ordinal numerals) 4 il slac )
first,second, third.

b. Words like:<ol<IL

much, many, each, every,
a few, little, all, several,
plenty... etc.

+* Exercise:

Identify the type of the underlined determiner in the following sentences

a. article b. demonstrative

C. possessive d. quantifier

(b)

1. This exercise is easy.

(s (exercise) ) <L (this) 4lS

2. Their friend is here. ( c)

3. The visitor came early. (a)

Cay i 33 o (the)

4. Many people watch the show

Badaa A 1)) ¢ La 43aS ¢ o S8 Lithe ) ( Many )4als

Asasl)
every week. (d) :
5. These sentences are O aadl () 0 L3N (A (These)
interesting. (b))

)

:ﬁ,_‘ Vi@i"assrar_atket t ¥ Ao game +OLE-ARALE- 00V VYAADY Lol 1 —Auaulald! Sledill Jolnd) 3y e m
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Person, Number and Gender: («iall §gi, A, yadd

Person : (=is

Nouns can be personal (humans) or non-personal (animals and inanimate
objects).

(aadl 51l gall) dpads ye ol (L)) dpadii e lanYUlSL,
Note: Personal nouns can only be animate (because they only refer to

humans). Non-personal nouns can be either animate (when they refer to
animals) or inanimate (when they refer to inanimate objects).

(oSl Lol dpadd yudleLawV) (LdalldUhgs 3 ged V) dpad) bl Jadss o5 dpadiillelan) :ddasdle
(da i Ledie tAga pad) KN (g s Ladie ;Agal) ikl

We can also use the term “person” in a differentway:

4dlisg 48 5l (Person) gllaas alasiul Lyl WiCey

Traditionally, personal pronouns differentiate between (w38 Anadddl jiladal) sale

the person speaking (first person)
(V) dishl) oy Mg Giaatall (i)

the person spoken to (second person)
(A Cihll) ey iy 4l aatal) (addl)

the people or things spoken about (third
person)
L é:ﬁ\‘g e &aadal) eLdY) ) (Wil
(S i)

1st person pronouns: I, we
I,we :J¥ ikl jlaua

2nd person pronouns: you
you : g..il.ﬂ\ ol yilaa

3rd person pronouns: he, she, it, they
he, she, it, they: &l dijhll jilaa

;v./ﬂ)

el atern

) ) s
iz /W @assrar_atket ; plufidegane “SH-AAALE-S0VYAASY Lol ) - Ruaulalll Lot Joladt 3yige

20




Number: Ay

Singular (number) or plural (number) affects the form of almost all count nouns,
pronouns and demonstratives.

(B LEY) slacd g silaallg slawdl) alieal JS&I) o i Lgild pan ol B3 ke LS o) g SaeY) 038
Here are some examples: ALY (e, Lia g

Count Nouns: 82 g2all sLlaud)
student (singular); 2,4
students (plural) >

Mass nouns are considered to be singular. i Jadé ¢ ¢<i 33 gana pl) slac)
v e.g. water, rice (singular) (20%) oY), skl

Pronouns: ylexsll

(singular) I, you, he, she, it 244

(plural)we, you, they @)

Demonstratives:s )L3Y) ¢lou

(singular) this, that; 24

(Plural) these, those gl

Whether the subject is 1% person, 2" person or 3" person; and whether it is singular or
plural can affect the form taken by the verb.

Jaill 0S5 Ll i 8 an o) 3 ke OIS o s (G5 — A — Jl) Gl Jeldll (6 Laie

)
e - E'&'.:./«..
g g Vi@i"assrar_atket t o game SEARALE- 00V VAADY Lol 1 - Tuaulall! Sledill Joid) 3)ae preymmiees)
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v e.g.

He walks home everyday. (3™ person singular subject)
He :deld — 2 jie — &l oyl o
S (2ste—deld Yoo Jhe Calall s ol s N Gaplall e Jai 3 Aadlall e
| walk home everyday. (1% person singular subject)

deld — 3 jhe — Jsl i)
(5) . sa 52 all Jeldll Callills Hhall dadle aleldl Capai Y 3 dall Jelall J5Y) <okl b
They walk home everyday. (3" person plural subject)
They : Jeli — paa — &6 sy o
Jiall 138 & aex (they) 0¥ (walk) dadll e (s5) cai )

(S) . 8 5 2ial) Sl (ol Aadle aleld] Capmi Shaaall Jeldll il G yLall

Gender: ol ¢ 5

The 3" person singular form of personal pronouns can be affected by gender as follows:
Al S uiall g g8 lgule i3 8 dpad 8l ilacall 3 i) N Ca k) JS

1. The masculine pronoun “he” refers to males.

he : LsSA ) judia Sia prada

2. The feminine pronoun “she” refers to females.

she: &Y ) jpda Sisa jpaa

3. The neuter pronoun “it” refers to inanimate

it dlaadl A adug Alaall el

=L D

) ) s
iz /W @assrar_atket ; plufidegane “SH-AAALE-S0VYAASY Lol ) - Ruaulalll Lot Joladt 3yige
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objects, or to a person or animal not yet regarded as male or female (e.g. “Who is it?”).
(58 Co Gl Jasan Ao Jedliian B Mlaal) padall padiind Eiiga g JS1a o) gead) g padull) 1)) Gl ¥ S 1)

E58diai Y Gua A cpaiall o a gl (jt) O¥ A g) S SN Gijad Y Gl g) el rcilalanl)
oaiall

Thedistinction between male and female may affect our choice of lexical items (words
or phrases) that could fill a “slot” in the structure of a clause.

JSa sl & a2 ) el e ) clall) " Lanaal) pualial) o s B AN S G @A
Alagl)

Man, headmaster, woman, actress
Jay  , , byl Aliea
v e.g. 1. Heis a good -----.
Man and headmaster can fill the slot in example 1.
Man , headmaster _sSill e ¢jla g cland) o)3a
v' e.g.Sheis agood ----- .
Woman and actress can fill the slot in example 2

Woman , actress <BY) e ol sz (el (5l3a

Note 1: The suffix “—ess” is found in a number of words referring to women, but there
are other words referring to women that do not have this suffix. e.g. aunt, niece, nun

OS5 oLl ) 3 LS (20 a3 RG] a3 B A I Ciliad 31 a5 (—ess) KiaY]
(aunt, niece, nun) 4saY) sda @llad V5 eluall I juds GillS ellia

Note 2: Most nouns in English can refer to both male and female.
Lae CHBY 5y sSA 3 ga3 4yl Aall) 3 clans¥) alans

N )
S

S W @assrar_atket $ Rl Asgame +SLEARALE-+00Y YAALY Ll )1~ Asaddall Sladiul) Jobnd 3yla4 priprmrmsess
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v eg.

Friend : AAa | (Bda
Neighbor : S, U
Cousin : ALY gl dand) A JAI g) aadl )
Teacher : dalaa | alaa
Nurse : Ll jan | U2 yaa
Singular 2,4l | Plural el

15t Person I we
IV Ll
2" Person you you
i VAT
3™ Person masculine | he they
EE Caylall

She

feminine | she
i
neuter it
dlsa
;ﬁf ’@assrar_atket t ¥ A gamme +OLE-ARALE- 100V VALY Lol 1 - duaidald! Sledill Jobod) 3)las proen W
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¢ Exercise:
Choose the appropriate pronoun:gtiall jradll Ui
1. 1t person plural pronounds! b adg aes e
a.he b.we c.they d.you
2. 3" person singular masculine pronoun &b Gi b adg 3 8a jreda
a.they b.it c.you d.he
3. 2" person singular pronoun Ul Cijhll 8 adg 3 8a e

a.you b.l c.we d.she

1' &It |
| e |
\ g A W @assrar_atket t ¥ dopane +SEE-ARALE-+00VAYAADY Lol ot — Tueulalll Siledihld Jobond) 3yige
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Lecture 4

e Whatis a clause?

A complete sentence needs at least one finite, independent clause. A

simple sentence is composed of only one finite clause, so that the

structure of a finite clause is identical with that of a simple sentence.

a5 3 gana 23y (e Adagud) Alaal) 0 oS35 JEY) e 3 sane dal y Jiiie 23y ALalS)) dlaad) #lind 1 5 5lall 4 L
dapad) Alead) @l e ity 3 sasall 2l a3 () @l L

Here are some examples of one-clause sentences:

Aen (& Bl iy g oaal g3 e LIS

1.1 have just telephoned Mohammed.

I - supject

Jold

Have -helping verb

Just

telephoned - main verb
oslasl i

2. He was my best friend.

He - supject Jsl

Was —varb =

3. This is his photograph.

This - supjectisis | s-verb ki

4. At nine o’clock, we all gathered in the classroom.

we all - pronominal

group
4 pada 4 gane

Gathered -verb

Jeld

5. He always does his work perfectly.

He - sabject

Jeld Does- verb s

;;ﬂ[ /W @assrar_atket ; plufidagens SH-AAALE- 80V YAASY ol ) - Ruaulall Siledil Jotod 3yige P ]
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Each of these one-clause sentences has a subject and a predicate. The
predicate is what is said about the subject.

Jelil) aie Caniall g 5 vl g 4l dinsall 5 Ixise 5l Jeld o (s gind Janll 020 a5 538 S

If either of those two parts, subject or predicate, were missing, the
sentence would not be complete.

Alei€a i ()} alaallé 3 53ie (predicate s subject) o jall aad (S 13
However, in an imperative, the subject is usually unstated.
(Tt e sl Olaa 5e) OsSBale Jelills jaY) dapa 8 oliiu) ollia (Sl

v’ e.g. Go study.

When the subject is missing, we assume that it is “you”, the person or
persons spoken to. The previous sentence can be expanded as follows:

You go study.

U 4l 4 sa (585 28N A Gadll) 8 Mi(you) oS Jeldl) o) (i i 2 5m 50 90 5% Wl Jeldll
you go study_sass Jshy 5l g s (Sae il

DY) dipa & Jelill SN Y
The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:

alen 403" 4lad o e s predicate ) s Man) 4las 408" el o e 58 clause JI G Taill ) Jeldl

D SIS LS 5 (S s el 5) Alea JS (0 5S Malls
NP (subject)+ VP (predicate)
(diasall) 8 Aliaie Llad Alant ((Joldll) b Alicie ) Ales 50 )

el atern

ﬁa{ ,@assrar__atket xald._ﬂ‘hw SBEE-ARALE- 00V YAADY als i -Wtaw Jekad) 8ylee
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The manbought a new car.

The man (np) Jel&l Jiai Lpacd dlaa
bought a new car (vp)imal) Jiai dulad dlay
Verb Phrase (VP) : dladlf 3 jlunl)

The verb phrase (VP) consists sometimes of a finite verb only.
dadd an 5 0 gana Jad (e Auleall 3 5luall o) 5SS
e.g. We all waited. s Liayl 5 J=ill 5

More often, the VP consists of a group of words (verbal group) with a finite
verb as its head.

Jad aa( dphadl de sana) el (40 de gana (o ST 4pladll 3 lall (La¥) e S
Lely 835084

For a clause to be finite, there must be a finite verb in it.
2g3na Jad 3 ga g (e Y Badaa 3R] sl

The verb can be either: Ll ¢ 68 8 Jadl)

1. Simplebsw

A simple verb consistsof one word.
pas) g dalS e 3 be Jasad) Jadl)

e.g. is, was, walked, sat, did

Aagedd) JuadV) Lgand cilalSl) oda

S W @assrar_atket t I s game +SEE-ARAEE- 200V I YAADY Lol )1~ Auulall! Sladiill Jobodd) 3)le
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2. Complex Sz
A complex verb consists of a verbal group.
(a1 Jad (e ST (g1) Aglad ds gana (8 0 e

e.g. have telephoned, were placed, were
waiting, did not like, could see
Jad— Ja 3130 — o lasa Jub LAl Adadl) e ganal) o b
B . b

Finite vs. Non-finiteVerbs  2ass sl Jadll aca daal) Jadl)
Finite Verbs ddaall Jadl)

. . is, are, am, was,
Finite verbsshow tense, person and number. .
aall g 28l 5 a3l WY G ) ki

The verb “be” in the following sentences is an example of a finite verb.
o2l Jadll e Jle sa 4l Jaadl b (43530 Jad) “be” Jadll*

185s8 (be) Jadl)

Heis here. Theyare here. (person and number)

Heis h Theyare here

€ls here Jeb 380 T3 ¢ Gl Gl g g pan JoWAY
Jad 320 1) ¢l G jla sa g 8 jea Jeldl) (are )4isisl)

(is a3 ssl)
He is here today. He was here yesterday. (tense)

He is here today He was here yesterday

435S Jad g palall (e ) 8 alaall o2a el 435Sl Jad g ualall (1) A Alaad) o a

(is ) el was

:.ﬁf ’@assrar_atket t Ao game +OEE-ARALE- 200V YANDY ol 1 - Auaulall! Sledill Jolaud) 3)lg
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Finite verbs can have three forms: g5 U Led Baaaall Jladl)

1. The base form rd 3. The simple past form
of the verb

2.3 person singular

imple f f
(simple form) o form of the verb

the verb Jadll daed) el i
() JSAl) ) (S Sadll o jial) Gl G phall Adsa
Jadll

God @) Ll ¢ gy Jadl) oa e 4l Calan Jadll () S Uia 20sSa 8 Jadl) o Cayas Lasan

L (-ing Osv 9 -ed () 525 il i Gl | ke e - aliita -

98 LaS (adl) -
e.g. walks, talks, drinks, e.g.walked, talked,
e.g. walk, talk, drink, speaks (ed) e Canmi aaliiall Jlady!
speak

JLl) e Atial cilalsl) oa Lezie Jadl) e (s) 4adlad) s38 Canai
o J2al Based) g sy okl a0 e Jeld Ll o S

e.g. drank, spoke

Jlad¥) e Laa oDladll 5 -
(8 Jmall) pualall (a3 3 Callil Ala 8 LeglSh i daliic yal)

bl e

s+ Exercis

What is the form of the finite verb in each sentence?

rd

a. base form -
b.3 person singular form

c. past form

1. The manager talked to the employees.
dadll B (ed) 29281 alal) (10 (2 52 g talked 2 Jadl)

(©)

2. He drinks coffee every morning.
Ol Badi Ly 5 (s) kel Cllil) i lal) Aadle 392 9 2230 5 drinks s J=dl)
3 ke &l iyl o g Jaidl)

(b)

3. Ahmed and Khaled usually study together.
i phall Aadle 4y a2 50 Y L) g (ed) 42 2252 ¥ 41 B3l study sa Jadll
(S) dal) &I

(a)

4. | went to the mall yesterday.
80 (ubua) Jadl) (o el dipua g 9 Maliiia j Jad A" went s Jadl)

5. At eight o’clock every morning, my father goes to

work.
Jadll Llgs es L) goes<<go  dall &L Gijhl) JS& 4 g goes sa Jadl)

(b)

;ﬁf ’@assrar_atket 1IN Asgamme +SEEARALE- 200V IVAALY ol 1 —dueadald! Sledild Jobad) lge
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Non-finite verbs 33iaa 2l Jlady)

Non-finite verbs do not show tense, person and number. The verb “come” in

the following sentences is an example of a non-finite verb.
(ot WS i i led il e ay) 20l 5 el 5 et ST Lggle jedai Y A JladY) L teadas ) Jlady)

v e.g.

I expect him to come soon. We expect them to come soon.

(person and number)

| expect him to come soon. (1) Js¥) cihll 8 adl g 3 ,8a Jolil)
We expect them to come soon. (We) A8 ikl 8 a8l g aaa Jolil)

85y 35 9 Non-finite verb 43 Ay g LS i cpilaad) 38 i “come” Jadll -
L) g (i)

He is comingnow. He was coming at the same time yesterday. (tense)

He is comingnow. (B Saall) paaladl (haj b 138

He was coming at the same time yesterday. Al (a8 1

Gadl S s 4 Y "coming" Jadl)

Non-finite verbs can have three forms JKal &30 Ll saaa yaall JdY) jua
1. The infinitive shaall daa

The infinitive has the same form as the base. It is often preceded by an

infinitive marker “to”.
(t0) o2 5 siadll Arua Ladle L Lo Ll 5 (Jasad) JSEN) 4l Gipa i Al jaad) daua

In some cases (e.g. after modal auxiliary verbs) the infinitive is bare

(without “to”). (to) i (sle) S& sraall (S SV any

P |
S

iz /W @assrar_atket ; plufidegans “SH-AAALE- S0V YAASY ;o ) - Raaulalll Siledil Jolad 3yige premreces
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For example:

| am waiting for him to come. (Infinitivewith “to”)

Al B Jadl) U Jay Jadl L) dial) (e 3 Le come § to + Jdas (& 3 Le ((to come) Js¥) JUall
( coming ) ey ing 4 il alg ((came ) e (alall L AL Ad) Cuag Ady pall aly ol A slad)

He can come tomorrow. (Bare Infinitive)

) Ga e o A AN Jadll @) da iy b g pdia Jad (52 can O sk come (G Y can Jadll (A g8 %
, sas sla Jadl) ghonbad disa : Gela ((come ) <l ginddanlu) diia B A e n iy pall o) ALl
sdry Al Jadl) 2% da iy Jab ga g can Jad Wl O 4Ll () & (i jhaa Cplag

2. Present Participle (also called —ing participle)
(ing-participle) = Lyl cex 35 ¢ (—ing ) 4d) llias Jadll 52

v' e.g. walking, talking, drinking, speaking
Present Participle = (—ing) 4d) <iloas Jad gl 13l
3. Past Participle (also called —ed participle)
aliia Jadll 138 IS 13 Alla b -ed 4l Ciliny ol (a3 6 Jad JS 13-

v e.g. walked, talked, drunk, spoken
e ye GG uidl 5 Jlatia (ed) 4 Giladl Jadll of s 58

;ﬁ,{ ’@assrar_atket t ¥ Ao game +OLE-ARALE- 00V VYAADY Lol 1 —Auaulald! Sledill Jolnd) 3y e
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+ Exercise

Decide whether the underlined verbs are:

a. finite

b. non-finite

1. He was able to walk after physical
therapy.(b)

b aaall G Jadl) ity ol Jeldl) juas cas

2. He is making a chair out of wood. ( b)

5o WS iy making Jadl) of 2l delill jai o jad )
2 e 1M

3. He made a chair yesterday in his
workshop. (a)

ey Jrdl) 555 38 Mad a8 Jaad Jadl) s Uy 1)
- o Jadlld g 0 U e 1) e 3

4. You shouldspend more time studying.

(b)

dad a5 Y spenddadll of Laadin Jelall s Uy 1)
& s by ie daé si"auxiliary model” 2 ols Y
2Nas 2" 4 spend J=d 5 (should)

5. They spend time together every
Thursday morning.(a)

Ana g 1A Jadll peied Jelall Ul 13

Finite vs. Non-finite Clauses

Badna ypall da 3oasall 3 5luel)

A finite clause is a clause which has a finite verb.
Jiudﬂécgjﬂ&aﬂ&diﬂ\c)ﬂﬂ }ioJL:uJ\

v e.g. He is waiting for the headmaster to come.

The previous above example has a finite verbal group, “is waiting”. ,
o le" & Sl Ly s (is waiting) 2 s "finite verbal group— s33se 4iled 4c gena" e Jlie 2 odef SO L
."finite clause - s33aa oy

He is waiting(is waiting) .4 5 s33ae 43lad 4c sane o (5 513 LY oadaa 4gdad o i 5l o jle (A

el atern

ﬁa{ ,@assrar__atket xald._ﬂ‘hw SBEE-ARALE- 00V YAADY als i -Wtaw Jekad) 8ylee
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A non-finite clause is a clause which does not have a finite verb.
Aiudﬁ&cg#y&ﬁ\c)ﬂ\wdju‘ﬁﬂ\o_)ﬁ\;ia)\..\aj\

In the previous example “for the headmaster to come” has a non-finite verb

“to come”, but does not have a finite verb.
s3dna e o gl o jle" ola Lin 43505 (to come) Jxdll Lual s ¢ (the headmaster) s 5 Jeldll Ll

"t0" go Jtas dapa e ela 4l g (Infinitive with "to" ) &8s s

saiaadad e sy Y oS 5 (to come) st s ddae e Jab e (s sy (for the headmaster to come) 1)
non-finite clause - s23xa e o 38 ) o sl sa Cuull 13g]

At least one clause in an English sentence must be finite.
sadaa V) o saal oy () S3 o Cany 4y julad¥) axlll b

Simple sentences consist of onefinite clause.
3aa) 93320 B ya8 (e allii adayunl) dlaal)

v e.g.Heisastudent. |ISsasaded s
Aoty dlaa 038 13) ¢ saal g oadaa 5 88" LAl

Compound and complex sentences consist of two or more clauses with at
least onefinite clause. I o) ()8 (e Callii saimall 5 A jall Alaal)

v' e.g.Heis waitingfor the headmaster to come.

He is waitingsaiaa 3 88
for the headmaster to come 31:aa £ 5 8
Aaad) Jaiil aaa Jod o g giad Y1 o saal g 5588y 5<0 0)) qua

;-./,.7

,ﬁ{ y@assrar_atket 1IN Asgamme +SEEARALE- 200V IVAALY ol 1 —dueadald! Sledild Jobad) lge
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Lecture 5

Verbal Groups  4lxdll Cle saadll

Verbal groups can be of five types: &) 5 (e 05SE dgladl) Cile ganall

Type 1 Modal +Infinitive: could see, will come

Modal s2Could ) Modal »» Will

AN juaal) ol g pall juaall) 4 See - AR juad) gl gl juaddl) 2 Come
(Barelnfinitive (Barelnfinitive

Modal +Infinitive Lual Ua 13 .. Modal +Infinitive Ll Ua 13-

Type 2 Have +Past Participle: have telephoned, has begun

Jadll Past Participle ' & Telephoned <"begin" Jaill Past Participle 2' & Begun
"telephone" Past 3 Al 3 Jadl) JS& s )X aliile & Jad ga

cer 43 . o Participle

piia nd 43¥(-ed ) (LWl Gadl) e Ll (Had, Has, Have) + Past Participle 13
(phiie & ol aliila ga Ja) Jaill £ of o adiey Sl

Type 3 BE +Present Participle: are coming, were waiting

(BE) 4isis J2b Are (BE) 43548 J2d Were
(-ing) A dilaa J2dll Coming (-ing) A ilaa J2ill Waiting

Type 4 BE +Past Participle: is grown, was broken

(BE) 43538 Jad [s (BE) 4i5is J2& Was
"grow'" J«ill Past Participle &' &8 Grown .
& ple=t st v Jadll Past Participle ) & Broken

"broke"

Type 5 DO +Infinitive: did not like, Did you know?
agia 3 o il ol paddll" 5 (finiteverbs - eaiss Jlxil) & 433 JxdY) s3a¢ (Do, Does, Did) o555 % DO I
(Infinitive-_suad) ) agd) las "l

DOl s Did DO Ul &bl diza 52 Did
-.\3:&’43‘ JJAAAS‘ 3‘ G.UAAS\ JMAS\) 9 Like .\3:&3.“ J-\AAA-“ 3\ @M\ J-’HAA-“)JA Know
(Barelnfinitive Barelnfinitive of " — "know" J»ill
&b @ "Modals" L & :Barelnfinitive .("know
"DO" '”‘:‘
;;.ﬂ )

el atern
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The first four types can be combined with one another to form more complexverbal
groups like: )
delpa muall (Gany aef 5l o Kadl (30 131) "combined -0sf5e" 153 5% o aeiSa A5V axy Y1 g ) 5391
(Uans peaS 53 JA (a Tasiad ST aglans o LSSy o) 5 sdine Jan it Jua¥) Taiias ST auladl) e sanall

Ahmed willhave finished that book by Friday. (Type 1 & 2)
2 13) 23l 5l pasdll ol el S Ll 553 Y (Infinitive - ae) & 4l o388 "have"  will + have
(dj“ﬂ\ t}d\
Have +Past Participle = ( L&) ¢ 51l 54 13a)  have + finished
oy Laghy ) xie S 5 J5Y) g 5d) Gw (combination— caS ) W gz s Jia) 138 131

He hasbeen learning English for four years. (Type 2 & 3)
LAl e il sy je Sl g sl has been learning

"finite— 23a"<has sla (S & 5 58 1) has +been
"Be" ¥l Jaill e 353k (been)Past Participle+(has, have, had) o5& &

..been s» "Be" Al Past Participle 13-

(Al ¢ 5 s 13a) been+learning

"Be" J=ill Past Participle J! s 5 (Be) 458l J=& been

.. (-ing ) 4 Cilcas J=dll siPresent Participled! s Learning

He willhavebeen learning English for five years by next October. (Type 1, 2 & 3)
(dsY¥) g 5l » 138) willhave

(Infinitive -,x=4l) Have  WillModal Auxiliary

(S & Al o8 1) have been

"Be" 435Sl J2é (1« Past Participle ' s» Been sacldll 8 "Have" ) s Have
(&l ¢ 53l 8 1) been learning

" have" = il L&Y (been) i 5 wacldll Li"Be" 1) » been

Adadll Gle ganall (e G & gll W ¢ gl 45 51SH Jadoaay Gl ¢« Present Participle s# Learning

Y

.......
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The president couldbe seen by everyone. (Types 1 & 4)
CouldModal Auxiliary

@ 13 "0" AL Lk o) 5 5 ol "be" of i35 <"Be"” 435Sl Jxdl Infinitive siadl ks Us Lyl Be
(Barelnfinitive -zu_sall juadll)

Past Participle of verb "see" s» seen 415Kl 28 Be

He isbeing called now. (Type 3 & 4)
(Ll & 530l 58 138) s being

(Be) 4 5:S)) Jad |s

being =(—ing ) + (Be) ¢! « (—ing ) + J=&ll sa 5 cPresent Participled! »» Being
(& g5 s 1) beingcalled

"is" 5 Gals Y (—ing ) 4 lilae els L (S5 (Be) 435380 J=8 being

Past Participle of verb "call" s Called

All such groups are formed in the order 1, 2, 3, 4, as follows:
P WS4 32 1 il e glai ailull Cile sead) S

1 2 3 4

Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle)
ALl U8 el e sl e S 8 il g sl gl e JsY) 8 S e sl Jas o LSy Y T

Gl + S+ Y e S+ Y e sl e iyl e )5 sSy of Gaag G

@\@\J\+‘;\m\ &}\l\ c@\)ﬂ+d}\j\ &}.\S\

Note 1: The meaning of the verbal group is contained in the last word.

YO uj ( contained -3";; ) aglzdl) 4 ganall ixall

e Y
e
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v" e.g. He has been learning English for four years.
L(Aass aid o) aleal) a3 8 Laadh g (595 5) "Function” i ag) calaall a8 ixe 5l 1Sl Y has been

( Lexical meaning -easal) inal) éllai ) 4l ¢ ixall Gl Jearning
oY) A€l (e A5 aglaill de ganall b i) T a3l e il ket e a3 e adads opai Lia

Note 2: Only the first word of a verbal group is affected by person, number and tense.
The first word is what makes the group finite.
(finite— s33ak) 4 sanall muan Jaad i) oo 4gledll de ganall & (U5Y) Jaill sl (Y1 4alS))
e.g.
He has been learning English for four years.

"has" s (Y Jadll 1) 5V 4l e 3 gmy Juadll 5 sadak 4gled e sane Lia Ll §3)

| have been learning English for four years. )
..(Non-finite— s33a4 32) < lagia IS Y Laa LS Uiy (learning s been)-

They have been learning English for four years.
.(finite— e23ak) 4gledll dc sanall aan Jua 53 58 Lia J5Y) il fal
&5 "has" 23l Jadll e 3 gy Juadll 5003k 4ilad 4 gana o4 (has been learning) ol Jsl) aakius 3%
agledll 4c genall & el Al Y1 4uS))

Exercise
Choose the correct order for each verbal group  zesall i gll Al

1. a. have seen could b. could seen have

c. could have seend. seen could have
OY) A oY sl o) el Laa (b, ) of Las gd ol HLaaY) o8 & Modal J) e &

(Past Participle) s» "seen" L b, could seen have

«(Past Participle) J# L "have" ob W@ SulLS- "have" Wac. could have seen

2. a. have should been doing b. doing should have been

c. have been should doing d. should have been doing
(d. should have been doing) s 4y i "Modal" Gle s sisg s aa sl sl o Baadls

;-.ﬂ)

ot
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3. a. has been studyingb. studying has been

c. been studying has d. studying been has
(Have +Past Participle) s& 5 4l 8 & G & 5il) e Giagin 13 ¢ Modal Ll ax 50 Y

(a. has been studying) JLAY) & laliaa 6 « (has) s " Have" JUall 1 i

Verbal Group Typesiidsill cile genall & 53l

Type 1 Modal +Infinitive

® The main verb which follows a modal auxiliary will always be in the bare infinitive
(without “to”). )
10" AalS Jadll 138 Gawy O (150 (e 8! (Bare Infinitive) Wil ¢ 58 Modal Auxiliary 31 g 3 sl Jadll

v' e.g. can see, could see
couldtosee sl cantosee Jsll i€y ¥

Sy sl e a4l gl (Bare Infinitive) s "see" ¥l Jadll Lia

* Modals are not affected by person and number.
sl 5 gaddlly \gle 531 Y Modal JI

v e.g. He must know how to speak English.
They must know how to speak English.
sl 5 ad 8l U yie Ladie s Guillad) WIS 6 o o3 iady ol

e All verbal groups beginning with a modal are finite.

(finite -0523a%) s Modal = fas il 4gdadl) cile ganall JS

Type 2 Have +Past Participle

This type is an expression of the perfect aspect. “Have” is used as a helping verb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and
tense.

33a4) s "have" acbudll 2l (Auxiliary verb -aebus Jxd) S a3aind " Have" i) caila U jaed 58 & sill 128
Lol sl aaal) S pasal) sy S 4l B o3 U S5 (finite—

;-./,.7

el atern
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For example:
Hehas read the book already. (present perfect tense)u=sill 5 2aall Cun s
Wehave read the book already. (present perfect tense)u=sill 5 2l s yias

The students had already gathered in class when the teacher entered. (past perfect
tense)

MHave " 3 bl disa & "had" s <" had" Lexdind T30 aabe ela el 138 a3l Cannas i

Type 3 BE +Present Participle

This type is an expression of the progressive aspect. “Be” is used as a helping verb (auxiliary
verb). The helping verb “be” is finite and changes according to person, number and tense.

-

4 sgd (finite -23a4) 585 ((Auxiliary verb -aelue Jed) S a3aind " BE" oaaodill caila A s 2 g 5ill 12

For example:
Heis coming. (present progressive)
Theyare coming. (present progressive)
2aall g ad &l IR 3w a8 " BE" 48 6kl Jad o L Jasdl
el 5 23ell sy o) 3 G o(finite -0laias) Le 13¢d ¢ (addll 5 saed) Casy | 3 (are - is)
Hewas waiting. (past progressive)

Theywere waiting. (past progressive) )
oaddll 5 23l Can | a3 (were -was ) of Leasf Lia a3l

Type 4 BE +Past Participle

This type produces the passive voice (in contrast with the active voice).
The verb is active in this

example:

Ahmed broke the window. (active voice)

The verb is passive in this example:

The window was broken. (passive voice)

=L D

) ) s
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¢ Exercise
Decide whether the type of the verbal group in each sentence is:
a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)

c. Type 3 (be +present participle) d. Type 4 (be +past participle)

1. The machine was fixed.(d) Jsgaall Al g) (Passive voice) J) s Jba 13
2. He can fix any machine. (a) 1) (Al Aiall) (pabsd) Jadl) diuay Un sl "fix"
Jds¥ sl e Jlia 138

3. He is fixing the machine. (c) g sl s (progressive aspect) ) = Joa \-::i
Ak

4. He has fixed the machine. (b)) Bl £ 5l s 9 (perfect aspect) ) e Jiia 138 13)

Type 5 DO +Infinitive

In this type, the helping verb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP). Some of these
operations are:

a3y (an operator -ﬁA\r_) 2o sedi caikile ol Lﬂ’)&.’a Lﬁ\ (an operator) 2 =2 " DO" 2 lisall Jadll &}J‘ Jaa
© Clleall 038 (any(VP) addadll o jlall e ( performed— s 533) o3 (operations -<ildee ) I (4 320 b 2eluy

Operation 1: Negative

To form the negative, we put “not” immediately after the operator.

(operator) J 2z 1558 (not) AalS muai o) o Y il At lua Lol 13)

v e.g. He doesnotwant it.
(operator) ) 3 " not" s (L dlea i1 (g)) A& § gai S

"does" s 5 (operator) Jl 3 " not" Lial aleall o2 3

v They didnotcome here.

[ 4:8ie operation I e3a Jead (51 | (il guail " not" sy a5 ¢ "did" 525 (an operator) Lual La

el atern
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Operation 2: Interrogative (question)

The interrogative is formed by placing the operatorbefore the subject and leaving the rest
of the sentence unchanged.

B Y o LS aleall 4y 5 4palgiiod aleall Jeal "delil Ji(operator) I g

v eg.
They come here.
"Do" s (operator) J ¢ sSumd "s" Caa Y 5 bl (50 (come) s Adlall oda S

Do they come here? (interrogative)
all) dapa b Jedll Jrad (Y co o ol iy Gaa e Lind ¢ i ol aleall 48 5 4dadl 3" DO" AalS Linia g Laid

Operation 3: Tag question

He did his homework, didn’t he?
(No -¥) 5l (Yes - axi}e 58 S il J) gl () s ol salld

Yes, he dideuia ol sall () Sl e ¢S Jgaadl 128 3 (S
(operator - Jale) JI sa"did" allall a2 i

They don’t come here, do they?
S gl Jpee W &}“‘:’ L;X Lia olicadiul (operator - dal.:;) Jl & Do

No, they don'tddia ¢ sSis 3Sall (e Gl sal)

Operators Jal 52l
In addition to “do, does and did”, operators also include:

:Jaii Al (operators - Jalse) lia « (do, does, did) ) 4yl
1. The modal auxiliaries (can, could, may, might.. etc)

v eg.
Operation 1: He could not come.
&) &rail "could" (operator - Jale) ) ax "not" Lima g

Operation 2: Could he come?

Aalgdinl arpa lelaal alaall 430y 8 "could" (operator - Jale) dI laa g
)
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Operation 3. He couldn’t come, could he?
A8 5l J) s gt "could" (operator - dale) I Lisasial

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British English ).
S pgedding Ladie (operators - dA“QQ) S pgeddind Ladie Al Jladls ji saclue Jlails PYBARERIY Sadll (e

dgilday ) 4adl) aie Auald Alla o3ed bl Jladl ogil agiilad 5 (operators - Jal 52)

The following are examples of “have” as a helping verb operator:

2l JaiS liliat (an operator—>le) ¢5S Lexie “have” I e & sSiu 4Ll aliaY)

Operation 1: They have not come yet.
8 adeall A2lua Jaadl " have" (operator - Jale) Jl a2y "not" AalS Cels
Operation 2: Have they come already?
Aalgdivl aapa Ldaad alaall L)y 3" Have" (operator - Jale) I
Operation 3: They haven’t come yet, have they?
2S5l Jl s guad " Have" (operator - Jale) I sla

This is an example of “have” as a main verb operator in British English:

Operation 2: Have you any money? (British English)
Compare:

Do you have any money? (American English)
b ks o1y aliy) juatl (operator - Jale ) S ashaiiul @li€ay «(main verb - bl J28) < " Have" 055 Laie
. gyl aalll

a3 e Salai) aall) d andid L) 5 Lo Jl e A2 lual aclus Jai€ " Do" 525 (Operator - dale) i Sole
Ayl sl b Lgaladiad (Sadl

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs.

The following are examples of “is” as a main verb operator:

ol Jai€ ok (operator - dale) (sSs Ladie “is” e ()5S 4glldl) abia¥)

Operation 1: He is not here.
agile alaal) Jzaloany "not" Lidal WY (operator - Jale) sa < gll Gty 5 oull Jad sals

;ﬁ,{ ’@assrar_atket t ¥ Ao game +OLE-ARALE- 00V VYAADY Lol 1 —Auaulald! Sledill Jolnd) 3y e
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Operation 2: Is he here?

"ls" 3 AT Jad of ax 0 Y el alaall drpa Jaadl aleall Ay b olina g "Is" (Operator - dale) ) L)
(The main verb -l Jadll) sa

Operation 3: He is here, isn’'t he?
(main verb -oslul J=8) s <85l udiy 5 (operator - Jale) ) a s

The following are examples of “is” as a helping verb operator:
2elise Jai€ Cailak (operator - dal.c) 055 Ladie “js” e (oS 4l alial)

Operation 1: He is not coming.
i alaal) delia Jaad saxy ¢la "not" oY (operator - Jale) s 5 aclua Jad 58 |s

Operation 2: Is he coming?
Analgdivgd Lelany 5 Lganad aleall 3 * oleadiul 5 (operator - d.«L:;) & gacliua =i sa s

Operation 3: He is not coming, is he?
S gl J) g W a8 oliaddlul 5 (operator - dele) sa 5 aclue J28 54 |s

7

«» Exercise

Decide whether the underlined verb is:

a. a main verb operator | b. a helping verb operator c. not an operator

1. They do not come here often. (b) sla 5aclue 28 85 (operator - dele) s2Do
s adaall Aelua J2ad "not" sae
(The main verb -l J2dll) 58 come

2. |1 have not seen this movie yet. (b)) ela 5 aclue J28 g8 5 (Operator - Jle) saHave
8 adaall Aelua J2ad "not" sae

(The main verb - LY J=2dll) 54 seen

3. Do you have a copy of the movie. (c) | s (The helpingverb -acluall J=ill) 54 "Do" 13l
Ol paad) ) jepnasd aleal) ol 3 sliaaiind
(operator - dale) < La axdiud ol "have" oS
(bl Jai€ sl T () gl A2l

4. He is not here. (a) - Jale) 2 (The main verb el J=dll) sals
A 2z "not" Jxay Al Lelal 5 ¢ ((operator
"is" (operator - Jale)

5. He isn’t going, is he? (b) Wial 5 (operator - Jele) 58 5 el Jad sais
Mis" aelusall Jadl aladiuly A4S 5 Jl g

;-./,)
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Lecture 6

K/

% Form and Function  4&k )l 5 el
Form iswhat the word/phrase/clause look like.
(5,8 \ 5 oke | AalS) 14y jeday Al jelaall 5 S5 s

v’ e.g.noun, verb, noun phrase, verb phrase, relative clause
":\;L.Iu..\l\ M\"d}‘a)&“ (u.d\ ;\La; 64:\Xaj BJL.\L c‘\*m.n\ 3)\4& ‘LS’j ‘H‘

Function isthe “job” of the word/phrase/clause in a sentence.
Alaall & (58 \ 5 ke | AaK) (e 3 ke o A4k )

e.g. Subject, Verb (Predicator), Direct Object, Complement
Jadll 5 Taiadl ) Jelal)

K/

< [Exercise
Choose (a) if the given term refers to a form and (b) if it refers to a function.

a. form b. function
1. pronominal group (a) o ebaall (& (5)) Arsall ol 4 4 el de send)
"Ll e de sana o) — alea 4nd g B lall" 4y ela
2. indirect object (b) (NP) 4xaud o sbe s e Llle 5 cainlay
3. complement (b) ook sl aaSlagds oo Ji SlaSl fall e
o jid
4. subject (b) (NP) 4zan o e s e Llle 5 caiidas sa
5. noun phrase (a) Lo A e 5l
Functions of the Noun Phrase (NP) drany) 3 jlal) caills

1. Subject of a Clausels ilex 5l 5 jad ixisall ) Jeldll

As we mentioned in Lecture 4, a sentence needs a subject in order to be

complete (except for imperative sentences where the subject is unstated).
Os5Ss deldll o Cua W) Al ey | aldi€h matl Jeld zUag aleall of G Hl1 3 jualadl 8 U S5 LS
[- s "

ot
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v' e.g.The old man is here.

old s The - (¥4 - man(The head -+/_V)  Jeldll a5 4senl dea The old man
2. Direct Object of a Verb L J=dl il & J gridl)

Transitive verbs require an object. Monotransitive verbs take only one direct
object.

v e.g. Ahmed finished his work.
Finished"d ssid) saal 2 3¥ Jaé -Monotransitive" s 5 Jelé s

Hiswork Ugladll 13Lall J griall 5 dnand 3 ke o

(i) Jsmidl) 038 b sl Jlaia¥) sa ¢S allall o3 8 5 aleall sdn b aal 5 40 J sxia Ll 13-

3. Indirect Object of a Verb L J=d jilu sl 4 J s2idll

Some transitive verbs require two objects. These are called ditransitive
verbs. They take a direct object and an indirect object.

ilae uadl 4 J smiall e 3l gy el 4 Jgmiall (e anl g 3305 JLadY) 038 5 ol smie e (5 giad A 3Y) JladY) Lians

v e.g. He gave Khaled a book. (... gave a book to Khaled)
06Si Uo9reell alazlly LLSly s gmio LigsiS Uls (sdacl ¢
(Ul LS (sdacl 9a)
bo coods @ W Sl csuidl 9o GV § al pilo @ Jgeio book Jl susy
bo ésain iy SVl pazadl 9o @V § ad alo jue ay Jgeao khaledg

v" e.g.The shopkeeper sold him some snacks. (... sold some snacks to him)
0585 skl AlLeadl 5 i) il sl any 5 4l smie Uin i)l sl Gany Al gl sa
(4 Aasall Gl Sl Gany Ul £Ly)
Lo (o ad Gasgy (oAl (23l g a3 € 4 yilw 40 Js2ie Ome snacks (i

Lo (o AL (o) () ga 43Y € 4yl Hil je 4 Js2ie him S

N )
S
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ALl o
) Al (e A (i (0% IS e Lindh 4 Gy g3 Gall) gl 5l g8 sl ( saiali®
) ] La il dglass
Lo lindh (AL 1) (addl) g pdlse i) J grdal
(Al J sadal) A for 5l to ga i ) J grdall®
ke i (b for + 9 + to sl Jerda + Jab 4 Jolix*
lal) J gadall 3B AL for ol to sy e ) J gadal)
e Jsada (for +50 to G ) sk pf Jsrda + Jad + Jelbkx

4. The Complement of the Subject +BE(is, am, are, was, were)
(be) 435S Jad + Jaall aleSal)
A complement is a word/phrase/clause that completes the meaning of

another word/phrase/clause. It is necessary for the meaning to be
complete.

A58\ 5 le \ RS iaall Ja il 58\ 3 e \ 4alS ;4 RSl Gy ya
v e.g. Ahmed is my best friend.

o8 O el ¥ 45 53Kl Jadl g Jelill AleSa 2 5 (Jral) Alaia ye Alaal) maais Wi 52 my best friend
s d(Ahamed is )

Note: When the complement is a noun, it must agreewith the subject in
number and gender.

w.‘x;l\jmd\gdpul\@ééﬁo\ qemf(w\aj.&nws:um
Ahmed is their uncle. (not “uncles” or “aunt”)
Ahmed S 2 8 uncle S 3 e

A3 5 Y 5 A e (aunt) U ek Yy 2l 84815 Y 5 en 0¥ (uncles) Jsi o) adaios Y
OS2 555 o QY (e amapd e 535S o) OB e gy i)
Sarah and Huda are their aunts. (not “aunt” or “uncles”)
Sarah and Huda &lsae>  theiraunts (s g
Y

.
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485 Y HSH A (uncles) Jsi o) galawst Vg, 2aall (8488 55 Y 53 )36 oY (Quint) Ji o) el Y
Sl 535S o G e cansman 535S o) GEEYT e cany L ainl
The full verb “BE” in this example only serves to join the subject and the complement

together. )
L LAY 5 Jeldl) e oy 8 Ja axdy JEA) 13 & o) 455U Jad

In this case, the full verb BE is called a Copula (=something that joins things
together). There are other copulas in English, for example, the verbs

“become” and “seem”.
Alia amy LSV Ly L (25 58 5 (copula) Bl J2éll ey (be) 45 5uSl) Jad allad) 030 &

(become - seem ) JdY) Jie i snSl Jad e 4y 5lai¥) aalll & s AT (copulas -adad ) Jledl)
5. The Complement of the Objecti: J sxiall 414l

v e.g. He found Faisal a good student.

2 Gl L5 (a good student) Uis ALl | JaiSe (555 f =l (he found faisal) L
e 5Ll Y1 4 Jgmiall Jei€a 555 ¢ (simal T30 JeiSa
In the previous example, the noun phrase “a good student” is the
complement of the direct object “Faisal”’. Compare the examples in (a)
and (b) below:

LS (faisal) Hobal 4 smiall e 4 5 (2 good Student) Lau) s ball Giudl Jid) B
bl (@) 5 (1)

a. The teacher found Faisala book. b. The teacher found Faisala good

The teacher found a book for Faisal. student.

The teacher found Faisal to be a
good student.

In example (a), “Faisal” an
indirect object and “a book” is
a direct object. The sentence
means that the teacher looked
for a book to give to Faisal.

In example (b), “Faisal” is a direct
object and “a good student” is

a complement. The sentence
means that the teacher thinks

that Faisal is a good student.

Jsrda"faisal" «()) Jlalld P9l 4y Jsadaga "faisal™ () Jlalld

«Hilagy dsaiagp "abOOK" 3 ke g good "y daly 4y Jsada 22 9y (b))
Crande Uae MliCiafiasialealliliaidtaal) Alasiga "studenta

i g i ale i A L)

e " - M...
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6. Object of a Preposition oall Caal J snda

Prepositions are words like “in”, “on”, “of” and “off” which are normally
followed by a noun phrase. The noun phrase that follows a preposition
is called the object of the preposition.

i A Daan¥) 3l | daend 3 le Llle Lei S (in, on, of ,and, off) Jie ClalS (& el Cag
o Gial Jsrde 50 e G

v e.g. We are inthe same class. v e.g. He walked ona high

platform.
In A A On Acia
The same class A high platform
Al Caal Jsrda a5 dnand 3 e (2 Al Gl dsrde 5 daanl 5 ke (A

In the same class _soaalls Jall3 ke agxens | On a high platform
Doy Jalls e agrans

In the two examples above, the noun phrases “the same class” and “a high
platform” function as the objects of the prepositions “in” and “on”
respectively.

oAl Gy al Jg2ieS 3eay (a high platform) s (the same class) 4xenY) & jladl o3e ) lal) 8
Sl Jde(ing, on)

-

7. Appositive to another Noun Phrase A" dpanl Alan 5" danl 3 5kal Jadll

An appositive is a noun phrase (NP) that describes the same person or thing
as another noun phrase (NP) that came before it.

sl 0 g1 ) Ll el ) s laall (5 AT dgand o jlnS o LA Ll sl Gl Gl Caiay dgand o jle 58 1 Jal)
(V) azanl o jlaadl & 5 sSaall ¢ 8 5l ad ] (pudi Coual 4 4gans)

S W @assrar_atket t I s game +SEE-ARAEE- 200V I YAADY Lol )1~ Auulall! Sladiill Jobodd) 3)le

49




v e.g.Your friendAhmed Al-Ali is here.
Your friend ) Aanl B jle

Ahmed Al-Ali Jadl a5 Al e 5 )l

In the previous example, “Ahmed Al-Ali” is an appositive. Itis in
apposition to the noun phrase “your friend”. Both NPs “your friend” and
“Ahmed Al-Ali” describe the same person.

OfnansY) Gl WIS(Your friend) asen) s jluall S“i s¢2 Ju 4 (Ahmed Al-Ali) eslad) Judl &
andi paddll e’ (Ahmed Al-Ali) 5 (Your friend)

We will talk more about apposition, including apposition types, in the next
lecture.
Al o yualadll 8 [ Jadl gl il ] @l e (e 5 el Cagya e ST Caaaig
+» Exercise

Choose the correct function for the underlined NPs:

a. Subject b. Object c.Complement | d.Appositive

1. His father gave him some Dibe 4y Jsnda sp Sl Gl 540 Jprie 2
important advice. (b)

2. Ahmed’s unclelives in Riyadh. (a) Jeldll a5 4l 3 ke &
3. Ahmed’s uncle is a successful o ALK el o3 8 ¢Mjs" aay al&h ) #lias
busnessman. (c) el ol
4. Khaled has a lot of books in his 13) Ldas Ul LS 5 ¢ iy (3uls (NP) o a0
room. (b) Jaad Ll Copany Cisl dgand o jle Ll 018

Ol il J xiaS
5. The teacher gave the students e pe 4 Jgrie g8 (gave) d=dll 4 J gnia

exercises. (b)

6. My brother Saleh studies at King ) 2 el anl 4V ((Jo) o2 alinl o shaddll anY)

Faisal University. (d) ol e 3 ga (31 et i (o a5 a5 A
"d}‘)“ (uh!\ U‘“‘" 95\")53“
7. The manager found him a hard 4 Jondall S5 58 dh 4o Jsade ol

working employee. (c)

o -
iy /W @assrar_atket : pluiiassans +6H-AAAEE- 00V YANDY ol 1 - Aastalll Sakhl Joladt 3ylge
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Lecture 7

% Types of Apposition Jull gl
In Lecture 6, we mentioned that one of the functions of the noun phrase
(NP) is as an appositive. We defined an appositive as a noun phrase that
describes the same person or thing as another noun phrase that came
before it.

Of LB LS ¢ ael) il Shin Cam ¢ 5 bl o2 8 ST U5 die Chaniin g ¢ Al 3 pualaall & Jad) Laal o5 S
Ol Chuay dgand 5 lbe 58 1o JUINP - L peaia) dpaul1 5 kel 5 ¢ panl) 5 jlall Ciilla g aal 58 adhay s Jadl
i o) it udi Ciay dzand 3 le 8 6 ) Ll el ) 5 jlall (5 AT dpand 3 )laS o 281 i 5l el
(V) Aran) 5l & Sl ¢ )

In this lecture, we will discuss the types of apposition.

Apposition can be either restrictive or non-restrictive.
(2350 56 ) de e ¢ ((23me) e osSy 3 Jad) Jadl ) gl (Bl 3 palaall 8 (b

A. Restrictive Apposition .l Jull
v" e.g.Your friend Ahmed Al-Ali is here.

In this example, the second NP “Ahmed AIl-Ali” restricts the meaning of
the first NP “your friend” by giving an answer to the question “Which
friend?” We call the NP “Ahmed AI-Ali” in the previous example a
restrictive appositive.

ce(your friend) (JAsY) 4ew) dlaall Sadll 285 (Ahmed Al-Ali) 438 4peny) dleall ¢ JEal) s 8
da Giladl Jidl & "Ahmed ALFA" 4! dleall o 3l € Guaa (g Jlsall adlal sy il G5k

e

Note:In this type of apposition we do not use commas before and after the
appositive.

Jad) 2z g U8 Jaal 8 aadins ¥ Jadll e g 5l 1 b Ad3adla

.......
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B. Non-restrictive Appositionxis szl Jadl
v' e.g.Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is
unique and does not need modification. The second NP “your old friend”
does not tell us which “Ahmed Al-Ali” is here but only adds information
about him. We call the NP “your old friend” in this example a non-restrictive
appositive.

WY\ M\J d.t..\:u CL\M ) &.u»\.m (a.u:\ (Ahmed AI All) ‘;)\)’\ WY\ o‘)l_ud\ u\

b 0S5 Al inall aaad a5 4ilin) 4aglaa e o e sa(your old friend) 4t
(JJM ) Ao e Ja dsant ) 13gd ¢ Y1 asanl) 5 jlall

Note:In this type, we use commas before and after the appositive.

Jaull days 08 Alald aasis Allal o34 b ¢ il

PERA)

Gla gl b da S Ll s (8 g 3al) Jad

s Exercise
Decide whether the appositive in the following sentences is restrictive or
non-restrictive:

a. restrictive b. non-restrictive

1. The shopkeeper Othman is a 2a gl Ciyaiy Jsh o alald il

hard working man. (a)

2. Dr. Omar, my Linguistics o o) iy Jaal) amy g J8 alald 8 L

professor, published a book.(b) e

3. Majid and Saleh, my cousins, it g iy Jal) day g J8 alald d L

will visit us tomorrow. (b)) e
;;.9’_)

el atern

) ) s
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Prepositional Phrase (PP) _sosalls Jall s jbke
We mentioned that a preposition is a word like “in” or “on” which is followed

by a noun phrase (NP)

NP 4sen o jlny |sail lll (N, 0N, .. etC. ) © oo alai L jall Cagpa
v' e.g.Mohammed is in the classroom.

In this example, the phrase “in the classroom” is called a prepositional
phrase. It has a preposition “in” and an NP “the classroom”. The function of
the NP in this sentence is the objectof the preposition “in”.

in the classroom - sl Jadl 6 ke
in - oallaa
(in) ool ol Jsnia Ll a alaadl oda 3 aganll o Ll di)ka

A preposition normally comes before an NP, but it can also be separated
from its NP as in:

u'aa_)cWﬁ});“q?&@my‘ojbﬂ\d‘aﬁﬁgg}c@my‘aJL,\aJ\d..\ﬁ‘;ﬁe);‘|g_§);Oi‘;ﬁ\,\H\oA
Gl e alaall 8 jedai Y 8 4gan) <l ) (laY)

v' e.g.The man is standing on the platform.
What is the man standing on?¢ J> I <& 13k e
The platform that the man stood on was very narrow.
laa Al dall Lgle (ol Al daid)

However, in these examples, the association between preposition and NP
still exists.

Lan¥) dleally all s G s 50 JI) Le L il pallaldl ells 8 sl

)
e & " - :.'&'...‘./...
b g >Q{'z,L"assrar_atket I A pame +SEE-ARALE- 0OV IVANDY ol 1 - Aueidaldl Sledill Jobnd) 3)ias ooy
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¢ Prepositional phrases can express a number of ideas, including:
et 5 SV e oae o id 3 el 5 Jall Gl e

1. Place gl e.g.The book is on the desk.
Il L gl GlSa (o Eyaal) LSy La g S (8 il gy Ul Bk (A
29l i B e
2. Movement  Jaall — Juy) e.g.He walked to the mosque.
9 J8E La el (JUEN) Ge yad (A Ua Jailll ol JEBY) e i oa s ssne 5 Jla B ke A
O I ad
3. Time el — sl e.g.l finished the exam in one hour.

o 13 OLERY) elgd Ll ) agia 3l o jidll s
Ll el e S ssme 5 s ke

4. Manner s — &gl - gl e.g.He finished it with little effort.
Gl e OIS e il 4l s
Aolu 5 Casld o yad H5omas Jla sk o 1Y)
L et dae (8 La i

5. Purpose — 4le — (e — 4ais e.g.This message is for Ahmed.
Cada Lo paddl e ) el (A 5 Dsomas s Boke (A
o dlalaia) gala - SoaRdl 138 L) oaliy 13 JA M ad | st e sl BAw) dead o eal ) Al ll el 1Y)
"l g o Jganl) gl L g el lisy (2eaY Lgghael 0

6. Agency e.g.The window was broken by
Lo (o4 5l aal adasd 53 — alaul s — 1S5 | theyoung boy. (Passive)
AL - Agency) 4 ge i s mes Ja sk (o

(4o 511 )

7. Instrument 3l e.g.l wrote with a pen.
Aadiind o gl gl A8 jhaa - s ald [ S Lia S 3148 g pen sl
4 s Jand AaY e i some s Jla b le

el atern
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+ Exercise
Choose the meaning expressed by the Prepositional Phrase in the
following sentences:

a. place b. time C. manner d. instrument

1. My office is located on Riyadh OSe 5l al ) (g
Road. (a)

2. He graduated college with a s Ua
qoodGPA. (c)

3. He fixed the door with a Gl Z3laY 48 jhadl arail
hammer. 3lal o4 13)
(d) |

4. They will visit us on () o) g ) aadally (i) g Wi ) Sane
Monday.(b)

5. The artist finished the il ool anlic A s
sculpture with great talent. (c) L il Al o

Functions of the Prepositional Phrase s salls Jall 5 jle aillas
1. Adjunct Ul

An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct,
the meaning will still be complete and the sentence will still be grammatical. It is not a
necessary part of the structure of a sentence. Adjuncts are usually adverbials.

& 3l (word-phrase-clause) ¢ 4dla) 4aslas 25 5 i (Word-phrase-clause) cs _be s
s nalld il Udagl 13) el cpe oatasind (Sadl) (e T3] c"aleall 8 g LER1 e 5 2" (el 3l o) (gERI sy
"y b —adverbials" oSS 3le @\jﬂ\ " ]l aef sl e dddaia" 4y e it aleal) Sai€a

As an adjunct, a prepositional phrase is considered an adverbialphrase because it does
the same job as an adverbial.

sobe Aila s oS5 Ladie (51) 4 LAl Jae (puit Jand LY 48 ka0 jlenS Jalad o) el 55 paad) 5 Jladl s jle ¢ oS
(4hS Lelae Jia aiS Lelae (Y 48 Hlall o jluadl Alabase Jalai Lgild "wls" 5 saall 5 sl

)]

- 5 ; [
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An adverbial is a group of words that does the same job as an adverb. In other words,
adverbials can be used to say when, where or how something happened.

(S 5 ol 5 i) oo Ui A a1 Judl (adverb -dial) dee (i Jast Gl GLSH (0 4 gana o8 1 48 Bl
AP FUIPK P NUIRP PRSP

4 S Jalad 5l RS a5 g el Jlall @l jle dida 65 Lexie

v e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where something
happened.

The man stood. bae alaall olgiil ddai aucai G (Saall o 5 4lai€a dlen A

Liboal 28 Uigd € iyl 1 58 ¢ Jdlal e Lkl 38 (S5 (0N @ high platform) g Lial 13} oSl
Gaall 4 G Al IS

on a high platform g\Se e Uy &b Wiadagg ¢ Hyymas sla bl Liina ¢ 4ilSaaid )l o
salasiny M‘ij\@éJjﬁ)p@m\uihﬁus‘jcLA;@Q}J;

v' e.g. | finished the exam in one hour. (adverbials of time)
This PP is an adjunct that tells us when something happened.

in one hour s «leall (1o Waledul (Saall (e cali (8 5 H50me 5 )l Boke A aria) 4l o
ntbal Sire aleall Jany adga g

saalgacli 8ol 5a 13 ¢ Lo o i Led o) ) agia 3l o yidl) e Uiy Lila

v' e.g. He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened
with little effortie s e W3 53 Qi 138 b Lgia 5 5 5al il yla Ll Ty

(S8 2gans ol € JmaY) ol o) e o i o A0S e U iy il La 13
alaall ¢lgi) 4hais i 5 He finished the exam: Js of LiSey 45Y &5 58

e Y
e
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Note: Compare the definition of adjuncts in this lecture with the definition of
complements in Lecture 6.

dssdlia) o pualaall el S5l COUEAN G 5 o pualaall o288 LAl S5 3wl sl s () )l
A complement is necessary for the meaning to be complete. If we remove
it, the meaning will be incomplete and the sentence will be ungrammatical.

D OsSi aleall 5 Jaie e oS inalld QRSN Linniid 1) Slaie imall (3585 of L f 13 cOU&AN ) liss
R

An adjunct is not necessary for the meaning to be complete. It gives extra
information. If we remove it, the sentence will still be grammatical.

i imalld i) Lan il 13lgleal) 8 020 ) 4s slen )5Sy aolil) 4gilica) da slae a3y inall JLSY (5 )50 e 2l
Yl LS iy aleally nall (S0 5 4laV) e sleall i Ul maa (lia 4y 5a i aleal) 5 50 Y s LS

‘o

Ol
SN (5 ygpm e @l 5 calaadl 3 iaadl JLSY 4y ) g o aL&A) 3

2. Complement of Subject +BE 45l Jad 4+ Jadll AlSs

v' e.g. The book is on the desk.

In this example, the prepositional phrase “on the desk” is the complement
of the subject “the book” and the main verb to BE “is”.

Jaih e mall aann Wlaeinl WY 4l cela ) 5aall 5 sl s e uon the desk
agsnd ye g alaia je aleall o Sin aleall oletil Adass Ui 5 &5 The book Ll 13

3. Post-modifier in an NP 4wl 3 ke 3 gamy Jaae
v' e.g.The desk in the classroom is covered with books.
In this example, the prepositional phrase “in the classroom” modifies the
noun phrase (NP) “the desk”. The NP is the head and the PP is a post-
modifier because it comes after the head.
Agdall e Clasbas oy sed s Jaee 58 5 el ol (e 2 s8N the classroom
D) 5 jle il 1) Lo G el Lgaadiass 4y 5kl 038 131 ¢"it" - (The desk in the classroom) dlagu) (Seall ;e
A o lad) a6 a5l
in the classroom _soaalls Jlall 3 ke 4euli 3 Lelithe desk

Gl 2 Caela LY (gamy Jinh & Hsoaaly Jladl s ole 5 Gell) (o 4penYl o Lall

)
e " - :.'&'...‘./...
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4. Complement of an Adjectiveiiall dlass

v' e.g.Ahmed is good at Mathematics.
In this example, the prepositional phrase “at Mathematics” is the
complement of the adjective “good”. We will discuss adjectives in more

detail in the coming lectures.

(good) aall Ass & (at mathematics) Jsoaalls Jlall 3 e JUdll 13a 8

T1Exercise

a2l 5 pualaall b Jpeadily cilial) 8L Co g

Choose the correct function for the underlined PP.

a. complement of | b. complement

c. adjunct d. post-modifier

subject+BE of an adjective in an NP
1. We finished our exam in 2 Ciels Lol LS wagila 3 4ipsk 4 in 2 hours
hours.(c) Gl Al ag )y i e il dalaS

2.We visited the big shop in_the
mall. (d)

O eadi G o4 in the mall Al o2

o3 Aalay Ll (ol ) mall JLaSY o )Ll 028 dalay

¢ (Sl aial) e dilia) da sl Lalaatl o jlal)
the big ) 4sen¥) o jliall (ary Jara (& il 13¢]
(shop

3. Mohammed is fluent in
English.(b)

3 ((Mohammed is fluent?) :Js& Laie
glinid (Cruad o 13le & Ifmuai sa 2d 1elus
=l JWsY "in English”

4. Ahmed was in his uncle’s
house.(a)

d=d + Jelill ales 2 in his uncle’s house
45 <)

5. Ahmed’s uncle has a big TV in
hishouse. (c)

e 4Ll 4a slae LY s 2 (in his house)
Dl sl Ak selaall 3 iaall JLSY 4 )5 0
AlSa aud yl (g8 cad (A )5l

P |
S

.....
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Lecture 8

Adjectives :

Adjectives are words which we use to describe people, things, events... etc
Elaa¥ Lt (i) G ol Lgeadins Gl e 3 ke A clikall

Adjectives can be divided into two groups: (s seas ) Sldall andi

a. Attributive Adjectives 4iail) Glaall

Attributive adjectives appear before the noun.
[ ¥l J8 el diadl) laal)

v e.g. This is an important lesson
Attributive Adjective . important 13 « lesson (/) & Cels important 4<lS o) a3l

b. Predicative Adjectivesis sl ¢ saiall Claall
Predicative adjectives appear after the noun, in the predicate.
(Predicate) 3! & 055 daall a3 of 6l an¥) 22y ek

v €e.g.This lesson is important.
A & oeda(important) AdS 13)(is), 4suSl) Jad as s(lesson) awY) s < odla(important) dial
(Predicate)

*Many adjectives can be used bothattributively and predicatively, e.g. the adjective
“important” in the two previous examples.

Ladl Jlie e 4285 i sxiwpredicatively — < 5 4sia attributively- S ) 533505 o) (Say cliall (e LIS
predicatively< a1 5 U attributively=S 3 U sl 8 cpalull il i “important” 4wl

» Some adjectives can only be used attributively.

attributively < i 238358 o (84 cliaall (g
predicate JI & (N) ¥ Jd sedai Jeil

v e.g. main, principal, chief

» Some other adjectives can only be used predicatively.

predicatively S L axiiu o (Say 5 AY) Cliall Gae
aa¥) i Helas o) LS Y predicate I 3 badd an¥l aay edas Ll ()

P |
S
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v e.g. afraid, asleep

zlos(an s a) = Ll &8ss 0S5 predicatively J) b cildal) of 1 ghay /| dBadla

ccliall (& cpe sl (i Jaallly aSaelud

* Adjectives used only predicatively tend to refer to a temporary condition rather
than a permanent characteristic. Look at the following adjectives referring to
health in the examples below: )

e Yy 483 allstemporary condition) - - Vs L sepredicatively I b aadius claall
(4l sl - permanent characteristic)

v e.g. 1. The old man is well today.

In example 1, “well” is a predicative adjective that shows a temporary condition.
(483 4l - temporary condition) e 2525 & 5 predicative adjective  Well

ol (B 5 e 0580 8 Gl Gy i ¢ el aay Juadl daiay ja2 5(The old man) Jssall dasi 1)
5) Cise(temporary- 49 = 138 ¢ : The old man is well today J s Levic 5 jlias daua 8 5S35 (5 )3
S sl (B e B 5 Gull (B aS A e Tae 5% 8

Compare example 1 to the next example, where the adjective “healthy” refers to a
permanent characteristic. ‘
(s Lpals -permanent characteristic) ) i “healthy” 48 o) dua ¢ 2 JUalls 1 JEall ¢ e oY)

v eg.2.

He is a very healthy old man.  ( permanent characteristic) il ipald  a
The old man is healthy.

0sS3 o " healthy" Asall s3gd (S 1) e Lo T30 53 e aay Jsaall Ja i 138
(4iini 4sa - Attributive Adjective s s2ius 4ia - predicative adjective)
(%l Lpala -permanent characteristic) e 2523

* In a few cases the meaning of the adjectives changes according to its position in
the clause.

clause ) 8 Gy bl o sy diall iedl) 4L cVS 8
v eaqg.

- Ahmed was late. (Ahmed did not come on time)
Lyl ¢ gl b ey ol daal

predicative adjectiveileall s3a i .a ( late)

;-./,.7

. S e
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- The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead)
Attributively < lgesiu ;5 lglis Laxie (Jate ) 2alS) iy (xall 13

a1 ans W seds e calite e Lgd () sSm an) Ji ddall < yela 13) 13)

% Exercise

Decide whether the underlined adjective can be used only attributively, only
predicatively or both.

a. only attributively b. only predicatively c. both
1. He is a smart student.(c) S Lgahadinl (Raall (0 sSMart Al
predicatively sl Attributively
2. The child is asleep. (b) s predicate JI & ) 2355 Y (asleep) dek
predicatively s_~Yu
3. One of the main causes of lung " Attributively" <¢ls (main) 4elS

cancer is smoking. (a)

4. Are you afraid of the dark? (b)) predicate 1) 4 ela afraid el of Lads
predicate » 13 (are) 2

5. This runner is fast. (c) predicatively < (fast) 4lS alasiul (Sadll (e
Attributively s

Adjective Phrases

Adjective phrases are composed of an adjective (which functions as the head of
the phrase), a modifier (mostly an adverb), and a complement.

- complement -3 ik (5SS Lgalana laes - modifier =2 5ball Ll S Jasd ) 5 4ia - adjective -1
L&

:.ﬁf ’@assrar_atket t Ao game +OEE-ARALE- 200V YANDY ol 1 - Auaulall! Sledill Jolaud) 3)lg
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Modifier Head Complement

Good
8kal Gl & Ll s 5 4dia
e
Good at Mathematics
3bad Gl 8 Liha g 5 4dia — s 5 Jadle) A
L ik 5 (Proposition phrase
. (good) csl L 4lesa
Very Good
Gl add aldae a5 dls | sl edgd Gl 8 5 4da
good
Very Good at Mathematics
U A8 Jae 5 da Gl A 5 dba — s s Jadle) A
(good) L&k 5 (Proposition phrase

(good) Ll Ul alsa

» Gradable adjectives are adjectives that express a condition or quality
of which there are degrees.

Cila L (88 of lanall (K cliall oda cila il 4 58l Ay e Liad Clia o 435304 cildual)
Al ala e lael(gradable)

For example, “good” is a gradable adjective. There are degrees of “goodness”:
(goodness): 4l Clas o dua(gradable). & S8l Gudsy g 4da 8 “good” AalS: JUA s e

1. High Degree(daii jll) adlall 4s Al

v e.g.very good ‘ ‘
good ¢ 5l very good 3 ke very good 5 good o Gl sl ¢ sl (Saa Lidaadl very AalS Ll

2. Excessive Degree 4sdsic jall ds )l
v e.g.too good
Al odgd T 05 O ool 138 (yo 8558 OS5 o ¢Sl (g ST 5 8555 Lo ST ) (i o0
3. Sufficient/ Insufficient Degree 48 yall s\ 48l 4 )l
Lo ool (SIS e IS8 5 S JSE) irer A
v e.g. good enough,
Ll Lo oo pmaill S IS o Ll imas 4
v~ e.g, not good enough -

bbb Le e o et ClS IS s Caul
S W @assrar_atket t I s game +SEE-ARAEE- 200V I YAADY Lol )1~ Auulall! Sladiill Jobodd) 3)le
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4. Comparative Degree 4 il 4x )l
Oind O (D a5 Lo ALK A Hlaal) Aaall s

v e.g. better (comparative form of “good”),

" good" LKl &5 jladl da )3l abetter
smarter (comparative form of “smart”), more beautiful
5. Superlative Degree  aliadl as )

LeiBlie g Lebuadil a5 Lo Al dduadil) dn 50l (0

v e.g. best (superlative form of “good”), smartest (superlative form of
“smart”), most beautiful

" good" 4.l dluadll ds il o bes
"smart" 4sl Lduadll 4l & smartest

" beautiful" 4l 4 luadll 4 Al & most beautiful

« Some adjective like “complete” are not gradable. They are not normally

compared, nor modified by “very”, “too” or “enough”.
(il g a3 3 e A ) Wlias (complete) 2alS oY &5 5l Sl o Ll sl (complete) dis Slaall (iany

Meiedan el oo aa g Y 5 &5 5lie a0 Ld Gl (perfect ) S Ladl

(very- too- enough ) led cibay 5 ¢l Y Ll apdal) (e clicall o2

- Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only
modify count nouns. They cannot modify mass nouns.

elantl) | sheay o Jadh (Say) Baae € Jia (a2a])) ) sk e il Jie (JSEY) Cauad ) clanall
Bagamall pe clanll 8 agaladiul (Say ¥, 53 2zl

v' e.g. This is a bigbuilding. INCORRECT: This is big water.)
oS elelaar W o (S ¥ S e a1 e

Function of Adjective Phrases ek g 4ui Jeall ddia )

1. Complement of Subject +BE 4isSl J28 + Jelill L)
v e.g. Ahmed is very intelligent.

faa S3 dealr Jlia
Y

el atern

) ) s
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2. Complement of Direct Object bl J gzéall aleSal)

v e.g. He found Ahmedvery intelligent. (He found Ahmed to bevery
intelligent.) )
laa st deal o oy 4 JUie

3. Pre-Modifier in a Noun Phrase 4wl s ke & A8 Jas

v' e.g. My very good friend is coming to visit me.
Gl aall o
4, Post-Modifier in a Noun Phrase 4wl 3 e A s30 Jaa
v' e.g. We must find the person responsible for the robbery.
A8l o Jssuall padlll e i gl g o
5. Head of a Nominal Group 4l 4c sead Gl )l

An adjective can be the head of a nominal group in the following special cases:
A Aalal) VAl 8 IS o) Daan e ganal Gl Adiall ()5S5 () (S

a. with a number of adjectives that refer to a class of people.

These adjectives include: blind, homeless, poor, wealthy, young, elderly, living,
dead... etc.

e B el saY) cela¥) cCpinnalle laall ¢ md) ¢l oo el (Sl Ganali Cldeall 224

The following are examples of nominal groups with an adjective taking the place
of the head:

ul ) i g danY) Cle sandl o QBN Gany L Lod
We gave money to the poor. (the class of people who are poor)
Sl (5 sinall (553 Luldll e gama(e) al ) Jlall Lydae )

The wealthy must help poor people in our society. (the class of people who are
wealthy)

) 5 sl (553 (el A gana (Linaine 8 o il (alaiN1 ) sac by o)) agale Cang Lie )
The young are our hope for the future. (the class of people who are young)
Dseal) Gl (553 el A sana (Juiasall Ul aa jlaall) N

el atern

) ) s
,ﬁ{ y@assrar_atket 1IN Asgamme +SEEARALE- 200V IVAALY ol 1 —dueadald! Sledild Jobad) lge
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b. Afew adjectives referring to abstract ideas. 32 s )88 I juls Sl Glaall sy

v e.g. The unexpected happened. The unknown is frightening.

i Jseaall, G adgie palls Jba

c. Adjective that refer to the people of a country.alsall (s e b ) pds Sl

v' e.g. The English are very polite. (the people of England)
(1l on) s 0 s ulai¥l: Jlie

The French are very interested in fashion. (the people of France)

(i 8 and) el WL () saign () gt )2 Jlia

Exercise

Identify the function of each of the underlined adjective phrases below.

b. modifier in
NP

a. complement Alesit)

c. head of NP

1. The driver responsible for the
accident paid the fine. (b))

oAl saas Jaxe o8 5 4ia o responsible

.(driver)
5 lall Jaee 43 Wl I3l ) s The driver
() = Axan¥) 5 Ll Jlaiasd Ly 43 $apans)

2. The driver was careless. (a)

Ua ulod Jod s 54558l Jad was

AleSe Cela s 5 44a & careless

AalSé ¢ Alaall ¢ 5 The driver was :J 8l WiSa Y-
Alaall e JeS age a5 5 (Careless)

3. He is a careless driver.

(b)

a careless ) 4 3 Ll (1 ¢ 3> 2 careless
(driver) o0l (8 Jaxs 58 5 (driver

4. The police found the driver guilty. (a)

«The police found the driver : Jsi o) audaivs ¥
Allay) 3 el el i Gl Wl sy

5 ga OS Gl of 6l "Gl aa eyl mad
BL) s alaadl oda ‘;E‘GLA,}} A\)Al\ G.uud‘ caA.a}_\ggLn_)ﬁJ\
e g i ol ) sl o

Aeal) Jine JLSY Aage oo (gUilty) Aalé 13

5. The elderly must be respected. (c)

o S it ) e Aidl 4ba oo (elderlyYielS
L GanY) de sanall il 5 a5 (elderly) J

=L D

- R
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Lecture 9

Adverbials (Adv) skl

« An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial
phrase.

Alen 4ud gl 8350 AalS 05 ) S okl

« An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to
say where, when and how something happens. It can also express other
meanings like frequency, degree... etc.

Lyl Sy, aamy Jadll oSy | e o aad aasiing o (s "l ol Mg L™ e AdS ga o k)
L Al S Jie g Al e e e 0

« An adverbial phrase is a group of words that does the same job as an adverb.
aohl dae (i Ll GlalS e sena (g0 3l ALl Aleall 4nd
Adverbials include: Je (s gkl
1. Prepositional Phrases osoaay S le
v' e.g. We were waiting in the lobby. (adverbial of place)
(S k) (Bl s (B i US cad b
2. Noun Phrases 4! &l jlall
v e.g. I will visit my uncle this afternoon. (adverbial of time)
(Claly k) Delall aas e g5l g Ul 1l
3. Clauses including: e gias <l jall 5l Jaall
a. Clauses with a Finite Verb (finite clauses) (s2s2e Jaa) 25050 Jad e (5 g5 Joaa
v' e.g. We need to leave before it is too late. (time)
(a3) OVl g8 U8 alas of liad ot 2 Jlia
b. Infinitive Clauses (non-finite clauses) (s253s & Jas) suadll 8 Jos
v e.g. | am playing to win. (adverbial of purpose)
(s k) oY i Ul 2l
c. Present Participle Clauses (non-finite clauses) (3253 e Jaa) olll g jladdl & Jos
v e.g. He ran down the road, breathing heavily. (manner)

(Ja) L smmy Ldite 3kl ol (€ 58 1l

;ﬁf ,@assrar_atket t Ao game +OEE-ARALE- 200V YANDY ol 1 - Auaulall! Sledill Jolaud) 3)lg
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Exercise

Identify the form of the underlined adverbials.

a.NP b. PP c. finite c. non-finite clause
dgany) Aleall dnd | ol Gigsa G clause 5agiaae g Al

S dlaa
1. He visited me in my house. > < n
2. He is studying to pass the sadll ) s LB | (5 jaae Jelb TO pass
exam. (d) sddaa e (5555 Ladla
3. Ali has an exam this e 48 jaa (S Laclis (NP)
morning.(c)
4. 1 will give you my homework (Clause — e oke) (A 5 0oV A8 e A Liaclis
after it is done. (c)
5. They walked together, smiling Ll (Non-finite clause — s 2 3 ke )
widely. (d ) Lo ool sl 4d joa

Adverbials (Adv) Jally oyl

Many adverbials are adjuncts; they provide additional information, are part of the
structure of the clause, but are optional. Adjuncts include adverbials of:
oo ol OS1g Aleall agd (e 555 Jadll Cigan A8 i 8 o gl Jaall ABale ()65 gl e S
1 bl paaliy Wasa g5 s pall

1. Place (position)telling us where (e.g. in the hall, there)
(‘ﬂl.'\b ,&:_m\ gé dl:u) Jadll &34;@3}&,:13*\5.}3 (é}a) OlSa ca i

2. Place (destination) telling us where to (e.g. to the door)
() ) sia) Jadll ianyg gl (M Ui (Ag20) Olsa b

3. Time (when) telling us when (e.g. at nine o’clock, today)
(pod) kel dailil) Ao liad) 8 1 Jlia) Jadll Eigan aB gay Ui pudng (4o 94) (e il

4. Time (duration) telling us how long (e.g. for 10 days)
(L) 3 y&e Baad 1 lia) Jadl) & gan Baay Ui judg (5e) e il

5. Relative time  telling us how long ago (e.g. just, still)
(DY a5 1 JVia) A0 Baa (oudaay Uiy g o a3l B

6. Frequency telling us how often (e.g. always, rarely)
(1095, Laila 1Jlia) o) Cigan ) S Uiy ) Sl Ci ks
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7. Degree

telling us to what extent (e.g. almost, barely)

(Slstl L A0) Jadl) Gaany Ao ja (oY Ui g da al) ci ks

8. Manner

telling us in what way (e.g. carefully, with care)
(w3 1JUa) Jadl) &igan Jlag Uiy Jiad)

Exercise

Choose the type of the underlined adverbials.

a.adverbial of
frequency

S B

b.adverbial of
degree

da ) il

c.adverbial
of manner

Jal) Gk

d. adverbial of
relative time

el (a3

1. He always drinks tea in the morning. (a)

2. The climbers barely made it to the top of the mountain. (b))

3. He finished the exam quickly. (c¢)

4. My friends just arrived from their trip. (d)

5. They bravely climbed the mountain. (c)

Note: Similar to gradable adjectives ( Lecture 8), some adverbs of manner can be

gradable. We can give different degrees of the meaning conveyed by a

gradable adverb. The adverb of manner “carefully”, for example, is a

gradable adverb.

v e.g. very carefully, more carefully, most carefully

o A.uzb ’A.uz\ PR ,J:}J.JA o dUA

b o (S A i 0585 O Sae Jlall Cag e Glany (8 5l (s il ciliall S ribiadle
ot ey JUd Jasw e " oaa" Jlall ol 2 puiall Jsdl e Jstiall el (e ddlise da

Some other adverbs of manner, e.g. “perfectly,” are not gradable.

Asotie e "UEL" Jie gAY Jall iyl an

iy /W @assrar_atket : pluiiassans +6H-AAAEE- 00V YANDY ol 1 - Aastalll Sakhl Joladt 3ylge
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Position of Adverbials <5kl &l 5

Adverbials can be found in three main positions: at the end, at the beginning or in
the middle of a clause.

laall oy (S o Aleal) AT 8 Aleall Jof (8 rhis ) o8l 50 300 (& 5 ) San gl
1. Final Position eall 4
It is very common for adverbials to appear at the end of a clause.
Uaall Ja0gh 8 Sl o) g Hhall as 23LaN (e
v e.g. Thank you very muc e 188 1k

2. Initial Position 4daall

Some adjuncts, e.g. adverbials of place (position), time, and frequency can
appear at the beginning of a clause. The purpose of this position is to focus
attention on the location, time or frequency ofevents and activities. For
example:

A A5k O (Sae ) ST syl g e M g sl (1 pall) S g sl i ALeall i le any
(Gl diss Ao dadl) Gagan a5l DS 5 S e 3 AN 8 @lld (e i jall s L dead)

Two days ago, | saw my dear friend Ahmed. (focus on time)
(sl Sle S ll) aeal el e <l ), 000 s 2

In Riyadh, there is a big celebration. (focus on place)

(OSall (e 58 5ll) € JUia) 2 gy | =l )l

3. Middle Position aaall awy

Single-word adverbs of frequency, adverbs of relative time and adverbs of degree
normally appear in the middle of a clause. Their position isimmediately after
the operator in complex verbal groups (Lecture 5), immediately after the full
verb BE, and before any other simple verb:

M\ﬂ‘f‘j*ﬁﬁsﬂ.‘;h)J‘MJ)LJM|L)A.£‘UJJL‘9BJJMS\ )‘ E"\UJ)LMLA]S
Juill 3139 (5 8 yualae) S ) Jad¥) il sana (8 5yl 2oLl Jail) 3y 598 L agad 5o
s e gl g o ptbse (o)

Y

.......
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v edqg.
We have often talked together. (after the operator “have”)
(have xcbud) Jadl ), Lae Cani e Llle gai

We are still waiting. (after the operator “are”)
(are scbuall J2dll 2ay) o ylaiia Ul jle (s

We are very tired. (after the full verb “are”)
(are J=8ll ax) las i ad
We still have some money. (before the full verb “have”)
(‘have J=ill ay) 2 g@ill (amy Luol I 30N s
We sometimes go to Jeddah. (before the full verb “go”)

(190 Jadll ) Baa (M bl oad

Function of Adverbials «as )kl da

Some of the functions of adverbials include:
D Qi okl il g (e pan
1. Adjunct (Sl a5 g 33 3) s
v' e.g. | knew her very well.
Jua Led e Ul

LiSay) i oo gl udy 5 iyl 4 (very well)

(e elainy)
2. Complement of Subject +BE =~ Jelll A3 + Jadll 44l
v e.g. That's all right. alle e 1aa 1 JGa
daall (Fae JUSY 45
3. Direct Object _lull J s2idll
v e.g. They didn’t tell me why.. KEVRPRPRTENEN P IS
;;._/ﬂ_)

;JZ{ ’@assrar_atket t I Ao game +SEE-ARALE- 200V YAALY Lol )1 - Acaddalll Sladill Jolnd) 3)ae
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4. Modifier <Yasall

Adverbs can modify nouns, adjectives, prepositions and adverbs.
GOAY) Jall Gagpla 5 gall Caggag cilacall 5 elant) Caal o)) (Rae Jal) g yla

Phrase Type Adverb as Phrase Head Adverb as
alaal) g o Pre-Modifier alaad) gl Post-Modifier
Gl Jras Jlad) G i @AY Jaas Jlal) G i

Noun Phrase nearby hotel

way ahead

Gk ekl
Adjective Phrase completely new
dba g dlay Jalslly PPN

quick enough

B EEES
Adverb Phrase very often
Jadlea [EN Lle

quickly enough

ie FRES
Prepositional directly through
Phrase 5 il PA e
Adadla

:-.ﬂ)

\ ';w y@assrar_atket t Ao game +OEE-ARALE- 200V YANDY ol 1 - Auaulall! Sledill Jolaud) 3)lg
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Exercise

Identify the function of each of the underlined adverbials.

c._adjunct il 3345 d. object Jsdal
e. complement Aleal) dlags f. modifier caa
il 545 48a suUre
1. Are you absolutely sure? (d) "ol L8 Jaee a5k S Jia absolutely
"sure
_ _ e Laiul oS 5 &8 very closel
2. The child followed his father very & Y CIoSEy
closely. (a)
3. He told him when to come. (b) il 43 J2ie when

BPREN Gk § Ja
4. The show ended very quickly. (d) U 8 e g5 ik Sl ds very

. Al s 1)) ¢ Alaall e JeSy a5 <Lk all right
5. It was all right. (¢ ) (L) o Lia d Ll

iy /W @assrar_atket : pluiiassans +6H-AAAEE- 00V YANDY ol 1 - Aastalll Sakhl Joladt 3ylge
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Lecture 10

[Basic Types of Clause Structure Jeall sl Ll &1 59

* In making up a one-clause sentence in English, we have a choice of five basic
clause structure types in which all the elements are necessary.

G paliall s Jaall eld Gt ) GILA Gued o Jbd Lol 25 ulail) A5 (883 jhe dlas oLy 2ic
:\A@deu}ﬁ&\}a\ u.u;j\ 538 aal ‘?ﬁem
* These basic types can be expanded with other optional elements like adjuncts

and modifiers.
ccliall g clialall (i a0 4 laal sualic aladiuly s g o) gSae D ) g1 5531 o8

 Each of these five types follows the basic pattern: Subject (NP) + Predicate
(VP).
(Wle 4 Jsniall) Alead) AL + {Subject (NP) Jelall Il Jaaill iy £ 153 (el 038 (0 SIS
{Predicate (VP)}
e In each type, the subject will normally come first and is the followed by a verb phrase.
el il 4y Lo pile o8y o) tole o Jelill g 530S 8

00Only the composition of the VP changes in each type.
£ dS (A (VP) Aaall L Sy Lasé
[10The VP _may contain the following elements:
A8 paliall e s ding o) (S (VP) Alaal) Bl
1. Intransitive Verb (abbreviated as Vi)
(sl ) i b Jab -1
2. Transitive Verb (abbreviated as Vt)
() dada Jad -2

3. BE or another Copula
Ak i (0ssy) i -3
4. Complement (abbreviated as C), which includes:
rOandil g Adaall ALags -4
a- Noun Phrase (abbreviated as NP)  deul dlaa 434 ]
b- Adjective Phrase (abbreviated as Adj) 4diasdlea 40
c- Adverbial (abbreviated as Adv) R -YEN

5. Direct Object (abbreviated as dO) <l Js2da -5
6. Indirect Object (abbreviated as i0) élw & Jsrda -6

e Y
e

.......

;ﬁ,{ ’@assrar_atket t ¥ Ao game +OLE-ARALE- 00V VYAADY Lol 1 —Auaulald! Sledill Jolnd) 3y e
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[10The following table shows the five basic types of clause structure in

English:
A plady) (8 Jaall el Ll Guadll ) 5 e 5o MU Jsaal)
Type Structure of VP Examples
& 5l aal) A el FO)
1. Vi a. We waited.
Jdo¥) a. RERIE BN
b. C (Adv)
dxia Jad b. We sat down.
__.a Lads s
Jdall kb
2. BE +C a. He was my friend.
Al a. NP (e S e
b. Adj b. He was intelligent.
c. Adv ($SOS
laall ALSS + (05S)) Jad c. He was in my class.
el dlea 40dig el (B OIS 5
ddagdleaaib
Jull Gyl c
3. Vt+dO a. | made a mistake.
Gl a. et syl
b. C (Adv) b. | put the key in the lock.
ilae Jgria 4 22 Jad Ja 8 L) Cara g L
___.a
Jds <yl b
4. Vt +iO +dO a. | gave him an answer.
& a. (to) Ll ) Cylae )
b. (for) b. He made me a suit.
il
(N).a
(-).b
5. Vt +dO +C a. | found him a bore.
aldd) a. NP T e padd 4 Ul
b. Adj b. | found him boring
eall 45+ jilie Jgzie + 2aia Jab (Jae 4taa g Ul
danl dea 2l g
dtia g dlea 40 b
2
,ﬁf ’@assrar_atket t ¥ Ao gamme +OLE-ARALE- 100V VALY Lol y1 —duaidald! Sledill Jobod) )34 prevmmmases
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* As we mentioned at the beginning of the lecture, each of these types can be
expanded with optional elements like adjunct and modifiers.
Jie Ay id) jualic aladiuly pu s o (Sae g1 531 Gl e JS 5 jumalall Al 8 L SO Lalia
Oldall g Cilaalall

For example, we can expand the first sentence in Type 1 as follows:
feh WS Y g sl (B (oY) Alaall w58 () WSy JUiall Jaeu (Ao

We waited. (Type 1) (JsY) g sl kil oy
We waited in the car. (Type 1 + Adjunct)

(ke + Js¥1 g sill) 5l & L LE) (s

» Simple sentences have only one clause. They can be expanded even more by
combining them with other clauses as we will see when we discuss
compound and complex sentences.

\AS&)';\BMJA;@LML@“\&SQ\M_Lﬁih\jﬁ)&du@&ﬂw\ Jaall
_BM\JA,\S)A\ M\Cﬁbﬁc“ﬁm

» Be careful not to confuse these five types of basic clause structure with the
five types of complex verbal groups that we discussed in Lecture 5.

4 al) Lladl) cile ganall £ 6 5 Jaad) Uil Apulad) £ g (uadd) oy clagd Jalaiy ¥ (o)) cany
53 palae L lea yd a0 il Asadl)

D OProducing “good grammar” is often a question of fitting a verb into the
basic type or types appropriate to it.
wmjdax_udmw\ _).\.\a_\l.‘qu\.cdé\_a.‘.u\_\.n]\ t\y‘}” J\ &).\S\uﬁc_u.nhndaﬁtmj

For example,
the verb “tell” can fit into basic type 3, as seen in the first example below;
and it can also fit into basic type 4, as seen in the second example below.
il Sy Ll ¢V J5Y) JUal) (8 pram g 98 LS Gl & il oy 0 (e " ual" Jadl)
Jaul U B e se 58 LS ol g sl sy o) ol

v' e.g. 1.He told the truth. (Type 3)
Aagall pal s L JsY) JUal)
v e.g. 2.He told me the truth. (Type 4)
Agally Sl e AUl JUa)

il

;'fi,: >y’massrar _atket : plu¥iisgpene +S8E-ARALE- 100V YAADY ol o)t - Asaulall! Slediill Jobod) 3ylge m
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On the other hand, the verb “explain” can only fit into basic type 3, but not
basic type 4.
U g ) Gl g das U ¢ sl oy o Jah (S e A" Jadl) (g AT Aali e
For example:
v e.g. 1. He explained the answer. (Type 3)
AaY) 758 s JgY) Jhal)
v' e.g. 2.INCORRECT: He explained me the answer. (Type 4 is not
possible with the verb “explain”)
("z " dadll pe dintse il Ml g sill) AaY) 7 oS s (BB) AU JEa)

[JExercise

Which of the underlined elements is NOTa necessary element of the

following clauses? If all elements are necessary, then choose “d”.
Y Jaa) 8 Laga | puaic Liing ¥ ad Lgtind ) jalinl) (e

a. (1) b. (2) c. (3) d. all elements are
necessary
1. He was in my home yesterday.(c) s 5 i kYesterday
1) @ 3)
2.Maha is a good student. (d) daga lgxaan
1) @ (3)
3.The angry man waited impatiently | ("man"aeSlalie oa;-4ia) L) angry
@ @ @O (a)

[JExercise
Identify the basic clause structure type for each of the following simple
sentences.

AV o) Jaadl e IS daadl el ) & 5l e

a.BE+C b. Vt+ dO c. Vt +iO +dO d. Vt +dO +C
1. Faisal wrote a book. (b)

2. He is a good writer. (a)
S S ga

3. He gave me the book. (c)
st ‘",ALEG\ )
4. | found the book interesting. (d)
LB UKl caa g L) P

5.The book is in my library. (a)
(S b g
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OOVariations of Basic Clause Structure Types
Jaad) el 4l &) 5391 8 cladlia)
Common Variations of Basic Clause Structure Types
Jaadl el Loalal) £1 559 (B dailis cildMA

1. Intype 1, “there” can be used as an introductory subject.
JaieS Janins o (Saa A" SV g il b
v’ e.g.Three exceptions exist. (Type 1)
3353 50 £ il 4D Jlia
There are three exceptions. (Variation of type 1 using introductory “there”)
(s "Ala" Jlexivd s Js¥) g sill & CaDERI) 53 s 5 ) 53l 43D cllia
The pattern in this example is: There +BE + Subject

Variations of Basic Clause Structure Types
Jeldll + (5 5S0) Jad + ellia 1 JGA 12a ‘;jlu.ﬂ\

2. “There” can also be used as an introductory subject in a variation of type 2.
L,,_a\_“\l\ &3.'\!\ o (2ieS Jaziosd o) Lﬁa..gi Clae el

v' e.g.Some books are on the shelf. (Type 2)
(A g 5 il e S iy e

There are some books on the shelf. (Variation of type 2 using introductory
“there”) Variations of Basic Clause Structure Types
(liaeS "dlia" Jlenivd sa S J V) & 5l 8 Cadlial) ol e (il oany @l

3. Type 2c, can be reversed when the adverb is “here’ or “there”.
Ak Gkl g o Sae (Gl 1 L) Gl Leaie S g 5 G oS5 Laxie

v e.g.Mohammed is here. (Type 2c)
(Caob Laaie SEI & 5ill) L daaa ,JUia
Here is Mohammed. (Variation of type 2c)
(LA g sill CaDEA))  dana Lia

v" There are other variations that we will not discuss here
L Ll okt al ) (6 JAY) DAY (any 2a

e Y
e

.....
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Lecture 11

[Coordination il
In the previous lecture, we discussed the five basic types of clause
structure.
Each part of the structure of a clause can be duplicated (doubled) or added
to by Coordination.
daal elid pulu¥) dadll o1 Y1 8 LSS A8 5 jualadl)
Gnil) A gy Calimy ) (ieliay) S o (S Aeall el (g 5 3 S

For example, the subject is duplicated in the following sentence:

Mohammed and | are good friends.
s elaal Ul g deae 140U dlead) 4 ) jSe delall | JUa) i o

The two parts of the subject in the previous sentence are joined by the
conjunction “and”.

Mg Calaall Gaya Aol 5 (e sene A5 Aleall 3 Jeld) i3
Conjunctions are words like “and,” “or,” and “but” which we use to connect
grammatical units/elements in a sentence.

If we combine more than two parts, we usually separate the parts by
commas, using the conjunction to join the last two parts only.
Alan g pail jealiall L pasid g "l Ml " e S a claall Giga

v e.g.Mohammed, Ahmed and | are good friends.
Ot eBaal Ul g aeal deaa Ui

[[JTypes of conjunctions «ihsll cis »a g5l
1. Coordinating Conjunctions (coordinators)éws as s
These are single-word conjunction, including: “and,” “but” and “or.”
S MOSI Mg Ganals aal g s e (e A sSe Gl e 8 ke g sl 1

v e.g.l want Ahmed and Saleh to come visit me.
s ol a5 sl 3 U g
v e.g.l want Ahmed or Saleh to come visit me.
5 P i F I WOR i P g
v e.g.l want Ahmed but not Saleh to come visit me.
A G ol e ad 81 deal i U JUa

)
e " - E'&'.:./«..
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2. Correlative Coordinating Conjunctions A Dle (il oy o
These are pairs of words, including: “both... and...,” “either... or...,”
neither... nor...,” “not only... but also...”
" " — "’__YJ ...Yll — Il’.."i ---L‘!ll — "’:..J ...C‘“ %II . . . '1.‘5 ..... ]S C)A O‘}SA &‘5-.‘” ‘..AA
R PV P P =

v e.g.l want both Ahmed and Saleh to come visit me.
e s mdla s deal e OIS i U Jla
v' e.g.l want either Ahmed or Saleh to come visit me.
b s s aeal L 2 U gtk
v e.g.l want neither Ahmed nor Saleh to come visit me.
OB T NP L WO P VON VIS g
v" e.g.l want not only Ahmed but also Saleh to come visit me.

3. Subordinating Conjunctions (subordinators)asl cas a

4. Correlative Subordinating Conjunctionsie )™is dali cas s

We will talk more about the last two types when we discuss
Subordination in Lectures 12 gnd 13.
A3 512 &) Gl pmalall 8 Al 7 5l Ladie 0 a1 (oo sill (e Gaals (i g

"1Exercise

Choose the type of conjunction in the sentences below:

AV Jaal) b Calasll G oa g g yial

a. Coordinating Conjunction b. Correlative Coordinating
CGali G Conjunction
e.\ln ..'. o dﬁ

1. My brother and sister went to Dammam. (a)
aladl) ) ) sad Adfg A

2. They are both polite and friendly. (b)
LSS (lagag g (ledisa Lar

3. 1 not only like swimming but also diving. (b)
.oasid) Loy oSl daluwd) cua Jadd cud U

4. | like swimming but not diving. (a)
02l Gt ¢S dalaadd) Gaa

P |
S

.....
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We can compound/coordinate any level of constituents (grammatical
units) - words, phrases and clauses.
,Jeadl 4l LKl Jia (4 saill Clas gl1) Sl siall (e A o (gl Baaii\ oS 3 () LiiSay
Jaadl s

% Coordination of Words
Coordination can link two or more words of the same word class as in the
following examples:
A0V ALY 8 LS Al Ada it e ST ol il day yy () Sy (Banel
Nouns: stau¥!
v' e.g.Football and basketball are my favorite sports. (Coordination)
(Gamati) Almdall cizaly ) ALl S a8l 5 S Jlia

Adjectives:cliall
v e.g.My friend Khaled is funny and intelligent.

Adverbs :Jall Gk
v' e.g.We must finish our work both quickly and efficiently.
el o 3ol de o lilee o o Lile ang o Jla

[ICoordination of Phrases Jeall and o
Two or more phrases of the same type can also be linked together through
coordination as in the following examples:
ALY (8 LS Gauaill) Aan) g1 pgeiamy e Gl 5 o)) Ll (S g oil) i ga JST ol il 40
40

Noun Phrases:awwy) Jeall 4ud
v" e.g.The old man and the young boy crossed the street.

Gl | e ) S sl S 1 i

Verb Phrases:dadll Jaal) 4
v e.g.Many of the grammatical terms must be studied and will come in
the exam.

OHEAY) G Gy SN O g Ay sail) se g8l (e ) Jlia

Adjective phrases:diuagll Jaall 4ui
v e.g.The topics are very interesting and really useful.
Jas Lda g as A8l mual gall | Jla

Y

.......
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Adverbials: gkl
v e.g.You can wash your clothes by hand or in the washing machine.
Al eSd Al 8 5l il it Juss () ks <l JUia

[JCompound Sentences 4 jall Jaall

[JJCoordination of Clauses Jaall (G
A compound sentence has two or more clauses which are linked by a
coordinator.

Cia Adand) g3 i 3 ST ) ilea e (5 a4 all Jaal)
All of the clauses in compound sentences are coordinate. In other words,
they are of equal rank.

Al o As ol i agaal | AN iney ASuie A8 ) Jeal) 85 il Jeall xiea

None of them are dependent on (part of) another clause. They are all
independent clauses.

Adiiia 5 ypmd dAlen JS (5531 5 jpad Alas o Lgda U adling ¥
The following are examples of compound sentences:

1S pal) Jaal) Ao Alla) (A Lah

v e.g. 1.Everyone was in the room and the doors had been closed.
Adlee CilS Ql ) g4 jall 3 oIS aeall ] Jls

v e.g. 2.Everyone was in the room, the doors had been closed and
latecomers had to wait outside.
AL gl o alid) g ddlee calS l ) A8 R0 8 S jaaall 2 Jla

v e.g. 3.Some students didn’t do the homework and the teacher knew,
but he didn’t say anything.
et du ol G8 Goe Gl g aeilial s )sal ol QU (s 3 U

v e.g. 4. Either he didn’t bring the book, or someone took it from him.
e aaf o2y aly QUSH 4 sy al 4 Jle

v' e.g. 5.I'm selling my car and (I'm) buying a new one.
s sl g g il (L) 9 (Sl ale Ul L5 (L

v e.g. 6.Mohammed is going on a trip for a few days, but (he) will be
back before Saturday. ;
ol a g 8 aa e (58) Oy ,abl Aaad Al ) (8 Cald 2ena 6 Jla

v' e.g. 7.He may have received the letter but (he may have) forgotten
to reply.

o e (8 0%) O U il (K T JEa

FAe

JENIT e m.
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As seen in examples 5, 6 and 7, when the subjects of the two clauses refer
to the same person or thing, the second subject can be deleted. We can

also delete the second verbal group if it is the same. ;
i) sl padill i ) o el Giilaal) Jeli iy Ladie 56,7 ALY 8 iage sa LS
Abiie il 13) Al Adedl) de sandll Calda Loagl Wi€ay s caday o (Say (SN Jeldl)

"1Exercise

Decide whether the following sentences are:

a. simple sentences

b. compound sentences
A 0 Jaa

1. My neighbor and his family are
going on a trip. (a)
Als ) S ol alic s s

JA‘JJ’A:J.\;‘)JQE

2. My neighbor is going on a trip
but his family are not going with
him. (b)
| smad alile (1 dla 5 b 3 5l
Axe (sl

"but" s (e Caya) Ly by Gliladi ye o)l ji

3. Either I lost my wallet or
someone stole it. (b)
LW \,M;i o (Sibhdaa s o) Ll

"or" s s (ke Caja) day 3l ik e o

4. The wallet was either lost or stolen.

(@)

s o aclin L) dlaiadll

e pa ST 5 2al5 Jelb

Y

i
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"1Exercise

Decide whether the subject in the second clause is:

a. Optional (can be deleted)
(423a (Say) (g A

b. Obligatory (cannot be
deleted)
(Adds Csady) k)

1. My neighbor is going on a
trip and his family are going
with him too. (b)

Laaaa] Cada (S Vg jlalidg

2. My neighbor is going on a
trip and he will take his
family with him. (a)

Ara ddlile 3L chgug dday Bl g la

Laaaal Cada (Kay 5 flealiia

3. Sara will study hard for the
exam, and she will try to get
high grades. (a)

Jolad g (o0 9, IR dyany S o
Agdle il 3 e Juans o

Laaaal Cada Koy 5 flealiia

4. Sara will study hard for the
exam, and Maha will do the
same. (b)

(Jal) Jadlias Lga g , JLEAM dgany ST & b

Laaaal Cada (S Vg jlalida

:.ﬁf ’@assrar_atket t Ao game +OEE-ARALE- 200V YANDY ol 1 - Auaulall! Sledill Jolaud) 3)lg
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Lecture 12

OSubordination 4=l

In Lecture 1 we said that sentences can be divided into simple, compound

and complex sentences. We discussed simple sentences in detail in

previous lectures, especially Lecture 10, and compoundsentences in

Lecture 11. In this lecture, we will discuss complexsentences.

Us iy 3dieay 48 jay Adass 215l A3 ) audii () (S deall o L i | 513 pualaall 8

Ayl Jaadl Liagl L p 5 5 il 5 jualaall dals 480 @ yualaall A Juaiilly Aagend) Jaal)
diaall Jaall e Gaati (6 g 3 palaall sda g e alall 3 palaall 4

O0OA complex sentence has two or more clauses joined by a
subordinating
conjunction. At least one of the clauses is subordinate to a main clause.
G sanls S el Cia a5 (liba je ST 5l (4 ppead ilen e S 5 7 Bairall Jand
otV Al iy 3yl el
JOA main clause (also known as an independent clause) is a clause that
can stand alone as a complete sentence.
AlS dlas 583 () et 3 yaad e e 3 ke (Alitiad) Aaally o yat Lial) A 1) dlaad)
Jaaa gl
JOA subordinate clause (also known as a dependent clause) is a clause
that cannot stand alone as a complete sentence.
ALlS Aea 585 O aoatinst Y 3yl dlas e ke (A y_pdall Alaally <o e Liayl) Ayl dlaa)
Jaas

A clause can be subordinate by being able to do one of the following:
‘-”:‘LL‘AJ;\JL.A;”JJE@\S\JJGELJTS " all Aleal

1. replace an NP in the main clausedswsi ) idaad) 2 duanl ey 40 S
v e.g.Everyone could see it.
Ay ) selain peall JUa
Everyone could see (that) he was frightened.
Ll IS (4d) 4s ) ) selaial aaanl

The subordinate clause “that he was frightened” is a noun clause. It
functions as the object of the verb “see”.
o7 Jaill 4y Jsmiall Jae Jasi s Asansd dlea oo 3 ke "WA S 40" daylil) dleal)

)
e & " - :.'&'...‘./...
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2. modify an NP in the main clause aal) & duan) Lay 43 Jla Ciuag
L
v e.g.l often see my old school friends.
v e.g. | often see friends who were at school with me.
;Lusl\ ‘;_"\MJJA c&dmi LS_)i sale L\i du\A
Aoyl 8 e ) IS Gl cBaaY) (5 ) sale Ul JUa
The subordinate clause “who were at school with me” is called a relative
clause. It functions as a modifier of the NP “friends”.
A g ge Aen ani " palf (4 [0S Sl Aa ) Alea)
L "ol S QA Jee Jand

3. replace an adverbial in the main clauseiswsi i idaad) & ca lal) Joas
v e.g.l met Ahmed twenty years ago.
Cacae i (g plie (pe deaf @ Bl
v' e.g. | met Ahmed when | was at school.
Aol b oS Ladie sl s Ul

The subordinate clause “when I was at school” is an adverbial clause of
time. It functions as an adjunct in the main clause “I met Ahmed.”
L7 At 5)) Alaall 8 Gad) Jae Janis ey Gk iing " jutalf 4 S Latie " da ) Alenl)
) "iasf clild )
A subordinate clause is usually introduced by one of the following:
[J0a subordinating conjunction, e.g. when or that
[J0a relative pronoun, e.g. who, which, whose
ok Lo 2aly lag sale daglil) dlagd)
(OF Leie 1dia) i o pa-
(e, A A 1 Jia) J g 90 sl

[JCompare: 45 j\aal)
1. a. He was frightened. (Independent Clause)
(Adiise dlan) A IS o
1. b. that he was frightened (Subordinate/Dependent Clause)
2. a. | was at school. (Independent Clause)
(Adiise Alan) A aall b S U

2. b. when | was at school (Subordinate/Dependent Clause)

(Ao 5 _pia\danl dlan) A aal) & S Lanie

)
e & " - :.'&'...‘./...
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Examples “1.a” and “2.a” are independent clauses. They are complete
sentences by themselves.

oaan g JalS e gl Y il glilea AU g JgY) NG
Examples “1.b” and “2.b” are subordinate clauses. They are not complete
sentences on their own. A main clause must be added to “1.b” and “2.b” if
we want to make a complete sentence from them.
Jas Alaly gl ) gy atas ol JalS Jina gl Gl Y gl (il gl g AN YL

"1Exercise

Decide whether the underlined clause is:

a. dependent
"ﬁu

b. independent
(4palaisl) Al

1. It was obvious to everyone
that he wanted to leave. (b)

s "that he wanted to leave":J s of gakivi ¥
o 1) il yoake e Ales raain LY dleall i
¢doalaic ) dlaa

2. He wanted to leave and this was
obvious to everyone. (a)

FVENIRENE PRRTY OS5 G of a1 ga

=¢5 5 "He wanted to leave™:J & of gk
Lali g 3ie Alan praaivs g3 dlaal)

3. My friends came to visit me when
| was in Dammam. (b)
el 8 S Ul Laxie 503 el da

5" when | was in Dammam®:Js& of gakiv ¥
o 13 Al 5 ake e Alen uain LY Aleal) g
Lalaic ldaa

4. My friends came to visit me, but |
was in Dammam. (a)
el &S Ul oSy b ela Jhaa

daall 65 5"l was in Dammam ":Jsi o) gk

a5 Base Alan ranalias LY

JTypes of Subordinate Clauses

1. Noun Clauses
2. Relative Clauses
3. Adverbial Clauses

(Aaalaie WAl Jaal) £ ) 53l

doau) Jaad)
4 gua gal) Jandl)
A B0 Jand

4. Other (Conditional Clauses, Result Clauses, Purpose
Clauses... etc.)
(ertoos Jan 423U Jan 4k yd Jaa) A

We will take a look at each of these types in the following sections starting

with noun clauses.

Y g il ool ) adl) 8 o) Y1 e e g3 JSU B ks 3AL g

~ %

i

.....
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JNoun Clauses  4sawd) Jaadl

We can divide noun clauses into that-clauses and wh-clauses. A that-

clause begins with “that” and a wh-clause begins with a wh-question word,
v e.g. what, who.

) Aan) Jaad) PRV W S

Whdaa s that Jea
aleiiny) Gl fay A 4 SE ¢ il ThatialS; ay @ s Js¥1 g sl
Wh-question word (What, Who...)

A. That-clauses That Jaa
A that-clause can have four of the functions of the NP. It can be:
ad g il g dayjf agal g il 13
1. Subject of a Verb in another clauses ) day & Jadl) Jold
v e.g. That the driver could not control his car is obvious. (=It is
obvious.)

(O gl sV (3a=) pracal 5 (o A jlans (A aSail adainy ol (G3Ll) I3 ) Jlia

Note: “That” is obligatory in this sentence. We cannot delete it.
Ledda ki W Alaall sda 8 4 Y " o) rdBadk

2. Object of a Verb in another clausesal dlay & Jadl) J saia
v' e.g.Everyone could see (that) he was frightened. (=Everyone could
see it.)
(A ) selaind aaall=) caila S (A1) 15 of | seUaind aeadl (i

Note: “That” is optional in this sentence. We can delete it.
lgdds apkai g Alaall oda 8 4y jlia) "G 1ddaadle

3. Complement of Subject +BEdzé + Jelil)
v e.g.The truth is (that) he was very shy. (= The truth is this.)
(Rl 8 o3a=) Jan doad oS (Ad) dadal o

Note: “That” is optional in this sentence. We can delete it.
Ledia (Says Aleadl oda 8 4 jlaa) "adi™ ddaadla

Y

.......
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Apposition (to nouns like “fact”, “truth”, “explanation”)
(II ” ',.II’ II‘L"';&II’ "éﬁU"Ji‘ ;! >()r d%‘”

v e.g.The fact that he was shy surprised me.
(il Joad IS Ad) ddds | Jla

“That he was shy” is an appositive noun clause that refers to the same
thing as the NP “the fact”. We say that the noun clause is in apposition to
the NP.
leall Ugh MAB8a" Lpansl) Alaall dnd (udi ) J g8 Ay Ll lea 05, "Jsad Gls Ad)
Agan¥) Jaadl 40 Gl 4anY)

Note: “That” can sometimes be deleted in this case.
RUBN XTI Llaad cadas o oSy "adi™ raaadla

[IReported Speech  Jsiiall a3l

Reported speech can be either direct or indirect.
o8l e sl e Lo 058 () (Saall (e Jsiiall 23S
a. Direct speech is quoting the actual words spoken by someone. In this
case, we write the quoted sentence between guotation marks (“ 7).
A Sy Al ol g e padd Gl Lo ) oS3l Jledl) JUST ) a il SIS
(") ol adle G bl J sl

b. Indirect speech is restating the words spoken by someone. We can

use a “that-clause” to report indirect speech.
PO i e iS5 Lo gl gl o ) S0 DI A ba ale| s il i) S0
.(That-Clause) 4=l Jeall &1 53 (e dpan¥) Jaall & J oY) & sill Jlaainl) jila ol

v e.g.The man says, “The road is closed.” (direct speech using

guotation marks)
The man says (that) the road is closed. (indirect speech using a that-

clause)
() Mo (o i€ silaa oDIS) Mglia I S Ja ) s
(Of Llaxind Gl 5 5l e WMIS) | (Bl GGy okl "gi™ Jsiy Ja )

.,// ’>
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A. Wh-clauses Wh-Jea
A wh-clause can have four of the functions of an NP. It can be:
b s daenY) Jaall aad A g sl 13gd Cailla 5 da )l 2a s
1. Subject of another clausesil il Jeld
v' e.g.What caused the accident is a complete mystery. (= Itis a
complete mystery.) ;
(Caele ol =) adle ju iy Colall i La Jlia

2. Object of a verb in another clauses il daa b J2b J sia

v" e.g.No one knows what caused the accident. (= No one knows it.)
(ol alay 2a) V) Easlall s La play aa) Y Jls

3. Complement of Subject +BEJ2é + Jelil) Alass
v e.g.The question is what caused the accident. (=The question is
this.)
(D sadl 58 138) Calall s La g JIad) JUia

4.0bject of a preposition_all s Jgia
v' e.g.This depends on what you want. (=This depends on it.)
(e aainy 13a) 3 5ila o adiay 1y JUa

[1Exercise
What is the function of the underlined clause?
T b Lo bad Lgiai dlaa S Jee e
a. subject b. object c.complement | d. appositive
Jeld Jsrda dlaad) ALass Ju

1. The fact is that no one could do it. (c) oY ¢ i that no one could do it
Lgled plaind aaf ax g Y 4l 4 da) rall JLaSY Aleall b aga Lad g
2. What he discovered was important for deld What he discovered

science. (a)
astell Laga (1S adiis] L

3. The fact that no one could do it (Aewl dea) Jx that no one could do it
disappointed me. (d)

ol lglad pUlid sa Y of Zin

4. Everyone knows that he made a great | Js=ithat he made a great discovery

discovery . (b) " Knows" Jaill
e GLEST Jee 58 430 Cajay ananl)

5. The workers rely on what the Jsée what the manager has to say

manager has to say. (b) (on) sl ca sl

el iy Lo e () paang lalal
- A
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Lecture 13

ORelative Clauses  Jwsll Jaa

In Lecture 12, we discussed subordination and the types of subordinate
clauses. We talked in detail about the first type of subordinate clauses:
noun clauses. In this lecture, we will cover other types of subordinate
clauses in more detail.

At Jeal) 155 Bl e Wan3 | e A 5 juialadl 3
Eaaaty 8 g ,oJmM\ Y ‘_,’Aj MMY\ Sl Y 2_,_,\_\]\ ] R i} e d}‘\y\ &}.\j\ e 5 n_\ Liams
il il Jaal (g AV &1 51 0o

A relative clause g se ilaa
isa clause which mainly modifies a noun phrase. It usually begins with a
relative pronoun: “who”, “whom?”, “whose”, “which” and “that”.
(i Jpasa by salefadis Aol dos 4ndy Laii i Llle dlea o
“who s, “whom &, “whose &/Al”, “which < and “that &7,

v e.g. 1.The car which he owns is very old. (The car is very old. He

owns the car.)
((Bobeal) elliay 5o las Fapad 5 jLouall) o Ay gShiay (Al 5 Ll ] Jlia

Sometimes the relative pronoun can be deleted (zero relative pronoun), but
it still exists as a grammatical position in the clause. ‘
Aleadl (AL b sa ge Juay (815 (a0Y e Jsmase san) Jsmasall jpaall Ciia (S Llal

v' e.g. 2.The car he owns is very old.
Jaa Aol a8l 2 Jla

In example 1, the relative pronoun “which” is the object of the verb
“owns”. Similarly, ‘
,LSSA&L.U ."‘ﬂ-‘:‘-‘,ﬂ."Md}’é-‘M}ﬁ "gﬂ‘" LL-A}M‘)M;JJy/JLw/?j

In example 2, the zero relative pronoun is the object of the verb “owns”.
Sl Jaill Jseiall Jae 8 a3V sl daasl) e AN JU b

)
e & " - M.
b g >g{'gL"assrar_atket I A pame +SEE-ARALE- 0OV IVANDY ol 1 - Aueidaldl Sledill Jobnd) 3)ias ooy
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The relative pronoun points back to the head of the noun phrase modified
by the relative clause. The head of the NP is called the antecedent of the

relative pronoun.
Lan) Aeall as () A gm gall Alaadly A 5o pal) dpans) dleadl and ) ) aa g Jeasll ypaia

Jyasal paall Gl en
v' e.g. The man who called us yesterday has come to meet you. (the
pronoun “who” points back to the head of the NP “man”. “Man” in

this sentence is called an antecedent.)
laal) 4w (il ) a3 " @A™ Jsa sl au¥1) il S AL s deail g 3) a1, Jla
(b o2 Alaadl o3 & "da ™ e M L)

[10The Use of Relative Pronouns:  Jwagll slad aladdiu)

a. Personal Relative Pronouns 4xaddll gl jlada
The personal relative pronouns “who” and “whom?” are used with human

antecedents.
“who 4l | “whom gzl

v' e.g. 1.There is a man outside who wants to see you. (There is a man
outside. The man wants to see you.)
(i) w o dasl Z oA daj aa g) gy 2 @l z Al dajll aa g 1 JBa
v' e.g. 2.Ahmed, who/whom | told you about yesterday, is here.
(Ahmed is here. | told you about Ahmed yesterday.)
(Al deal e el il Ul L 3 sa se deal) L 2 ga e dn )L die ol jdl o3 sl 2 (i

b. Non-Personal Relative Pronouns  4uxailll il Juagll silea
The non-personal relative pronoun “which” is used to talk about animals,

objects, places, ideas..etc.
LS S alial) il gadl e il aadid dpaddll il Juagll il

“which gty Ll

v' e.g. | want a watch which is waterproof.
slall a0 oS5 Al de bl oy ) Ul Jlia

1- Personal and Non-Personal Relative Pronouns
duaddd) 48 g duaddd) Jagl) jilaa
The relative pronouns “that” and “whose” are used with both personal

and non-personal antecedents.
18 5 (ala ¥y U gl 5 Galilall alaiV1) e il IS Jariodi adidl) e 5 dpaddll el

“that<4d”  “whose- dely raall’
v—e.g. 1.There is the driver that was speeding. (“that” used w/h_,the

personal antecedent “driver”) % /
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("G il Bl pe il M) e e (IS 3 G 2 13 Jle
v e.g. 2.There is the car that was speeding. (“that” used with the non-
personal antecedent “car”)

(“SJl,,u.d\" el Hdl Gl e Craadiu) M AN o et Gl Al B Ll o4 oda 2 Jlia

Note: “Whose” gives the idea of possession.
Loyl DY) aa asd "whose":4a

v e.g. 1.The man whose car you borrowed wants to see you.
(The man wants to see you. You borrowed his car.)
iy ) b L paial 4k @) Ja ) Jla
(ke Catind ey ) 2 5 Ja M)
v e.g. 2.We saw the castle whose walls were made of rocks.
(We saw the castle. Its walls were made of rock.)
oaal) (e G ) aa @) il Wil a3 ,2 Jlia
(o3l (e de gian 4l jaa el Wil ()
O 0In the following section, we will talk about the third type of subordinate

clauses: adverbial clauses.
A BY Jaadl ;s s Al Jeall ael il o Cllill £ i) e Canaii | ) andll 8

Exercise
Which of the subordinate clauses in each of the following sentences is a
relative clause?

04 gom 9o e iy A5V Anil) Jaall (g6

a. relative clause dgase dlaa

b. not arelative clause
dgage & Alaa

1. The machine which makes plastic

bottles is broken.(a)

ks sy oY dleall s e slriuY (e
(el (ira o B Y a3 1Y) 1)

2. The manager is upset about what
the worker told him.(b)

@bl Wasa s Y Alaall o2 oe el Sa Y
(Alaadl ixa (e (i Walisda 13) )

3. The problem is that he didn’t oil
the machine.(b)

ol gy o Aaall o g lai¥l (S ¥
(Aeall ine (o (b Walisds 13) )

4. The worker that forgot to oil the
machine is speaking with the
manager.(a)

@ okis) asa s oY the dleall o2 Oe el (S
(el (ira o B Y Lalidds 1Y) 1)

5. They called a technician who
could fix the machine. (a)

ki) ladsa s oY dleall o2 (e cliin) (Ko
() e e ol Y alisda 13) (5)

Y

.......
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[JAdverbial Clauses 4kl Jaall
Similar to adverbs and adverb phrases, adverbial clauses allow us to talk
about time, place and manner.
dadly il a3l e Gaadll (e Wi 408 5kl Jeall okl dea 40l 5 <y phall Sl
v eg.
101 met Ahmed in 2005. (adverbial phrase of time)
(Aile ) 48 50 dlen 412) 2005 ple b 2enl s Ui-
001 met Ahmed when | was travelling. (adverbial clause of time.)
(Ao ) 43 Hla dlan) ) jilise <€ Ladie daaf culis i
[JJHe parked his car here. (adverb of place)
(DS Cayka) L 43 )l (i) sa-
[10He parked his car where there is a parking sign. (adverbial clause of
place)

(AlSa 48 5k Alan) a5l 5 L) e 45 sl i) a-
[10He drives carefully. (adverb of manner)
(Dl k) iy 5k sa-
[10He drives as his father did. (adverbial clause of manner)
(Jal) Cayla dlen) oall 5 o5 LadiS 358 sa-

Note: The words “when”, “where” and “as” in the previous sentences are

subordinate conjunctions.
Jals Calae Cigya et Ailudl Jeall 8 "La€" 5 "aie " MLaxie " UL 1Adiadle

[10JAdverbial clauses also have functions similar to adverbs and adverb
phrases. For example, the adverbial clause in the following sentence is an
adjunct:

A Rl Jaall ansi g oy plall ailiia Jae Jan Liadd 48 00 Jaal)
Adale 45Y) dleadl 8 48 k0 dleadl | QU Jas e

v e.g. | met Ahmed when | was travelling.
(The adverbial clause “when I was travelling” is an adjunct.)
OCompare: | met Ahmed in 2005. (The adverbial phrase “in 2005” is an
adjunct.)
ilie i€ Ladie daaf culid Ul Jlia
(Aiale " jilue S Ladie™ 4 k) dlaall)
(Aaale 2005 ale A" 48kl Aaall 403) 2005 e (A deaf @lild Ui 1 8

N
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[0In the next section, we will look briefly at examples of some other types

of subordinate adverbial clauses.
baialy Aalal) 238 el Jaall (e g A )55 oo ALY (any (LG Cogu | ) andll &

JOther Adverbial Subordinate Clauses ¢l dali 48 1 Jaa

JPlease return my book if you finish reading it. (Conditional Clause)
(ks Alan) el (pe Cugiil 1) S ae | Slad-

OOAhmed is quicker than | am. (Comparison Clause)

001 couldn’t open the door because | used the wrong key. (Reason

Clause)

(oo Aan) Al Uikl aladiin) Gues QL a8l o adaiad ol Ui
[10He closed the windows so that he wouldn’t hear the noise outside.

(Purpose Clause) ‘
(UAJQ ZUA;) CJ\AJU 6\;.43\ & Y gﬁadsu\ Blel sa-

Y
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Lecture 14

Review of Previous Lectures
A3 &l palaall daa) ja

JO0Form and Function  4ida gl g ¢ ssill
An important distinction that we talked about in our lectures is the difference
between form and function of constituents. The term constituent is used to
refer to words, phrases and clauses. First, we will look at the forms of
constituents.
padiy puaiall mllaias paliall A3k 5 5 0 sS5 On GUAN s Sl palaall (8 die Liaat aea 34
Al pealiall 0 oS5 e Saath Caga Vgl Jaally  Jeall ad | clall I Al
JOForm sl
Some of the forms we discussed in our lectures include: verb, verb phrase,
noun phrase, noun, nominal group, pronoun, pronominal group, noun
clause, determiner, article, demonstrative, preposition, prepositional phrase,
adjective, adjective phrase, adverb, adverb phrase, adverbial clause... etc.
AoauY) dleall as Auledl) dlaall s | Jadll :pacati ) pealaall 8 Lie Liaad i) iy &3l oany
i el 3ol clasad) Ban¥) Jaall A jrecall de ganall | jpecall Lnand) 4c sanall | anY]
Alead) ans Gkl Adea gl daall 4t il sl oy pa das s sall g a ol
) A Jeall 3 k)
1Sample Questions Aiul g3 sal

Which of the following is a pronoun? € s b e

a. Mand>, |b.talk&ay  [c.hes | d. nice—akl
Which of the following is NOT an article? Sy 23 31l (L Las (g
a. them | b. the Ic.a | d. an

(JFunction 4ddas
Some of the functions we discussed in our lectures include: subject, verb
(predicator), direct object, indirect object, object of preposition, complement
of subject+ BE, complement of object, complement of adjective, adjunct,
appositive, head, postmodifier and premodifier.
ladl) J gl (aisall) Jadll | Jelall ;e ¢ jualad) 6 Lgde s 3l Cailla gl) jian,
Adall 31685 J griall ALaS3 (0550) J2d + Aleall ALSS | all Coja Jgnda | pilae judl J g2aal)
Adall ale Adall il I Slal) | 3l ol

)
e & " - :.'&'...‘./...
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DOSample Questions Aiul i gal

What is the function of the underlined phrase? $ha lgias Jll Jaall i dad L

“The students are attending a lecture.” ralaall (5 pasy QOl"

a. Subjectdeld C. indirect object séle ne Js2ie

b. direct object sl J gzis d. complementalss

“He will come tomorrow.” The adjunct in this sentence is:
- o alaal) oda 8 3ad " lae L Cogu A"

a.He » | b. Willis= |c. Comeh | d. tomorrow!=

D Definitions <y il

Some of the terms we defined in our lectures include: Grammar, sentence,
statement, question, exclamation, command, intransitive verbs,
monotransitive verbs, ditransitive verbs, modifier, proper noun, common
noun, animate, inanimate, count noun, mass noun, collective noun... etc.

LIVl Aibl) Alaad) ALK Alaad) ac ) g8l (el Gl pualaall G lalid e Al Q\;LL:.:AA\ LA
aa¥) Jaa sl | pdlal\amiall Jadll | salal¥) aaiall Jadll | jblaall\datiall jue Jadll | je¥) canadl)
Lokl an¥) Ba gaeall pae lan¥) 33 gamall sland) dalall | Al LA Al Calial)

JOSample Questions 4biul zigal

Nouns which cannot be preceded by “one” and have no plural form are
called:: o gen dopa Ll a5 "aal 5" 2021b L (S Y ) slan)

a. count nouN 2 s3xe axl c. countable noun 2l J& aul

b. mass noun2sxs e aul d. collective noun a<ls aul

The name of someone or something that is usually imagined to be unique
is called::ex W 4e 6 e 2 adl Joay Al ¢ i) o) (add aud

a. proper noun—stia aul C. common noun ad au!

b. generic noun ale au d. collective noungsls au!

Classifications iyl
Many of the terms we covered have different classifications. For example:
We classified verbs into: helping verbs and main verbs.
We also classified verbs into: transitive and intransitive.
We classified pronouns into: personal pronouns, reflexive pronouns and
indefinite pronouns.
LU Jae e Al claioa Ll lalinyn ) cilallaad) o i€
et Jad g acbine Jad 1 ) Jdl) Ldna
il e 5 yilie\ane 1) Jadl) Lkt Lad
Bana e yilaa s Al Hilaa duaddll jlas ;) el Ldua 9)

S W @assrar_atket $ Pl Ao panme +SEE-ARALE- 00V VAADY Lol o1 — eulalll Silediall Joboud) 3iga
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DOSample Questions 4biul g i gal

Which of the underlined pronouns in the following sentences is a reflexive
pronoun. . Sail ey 00N Jaall 4 dad Liad Al jilecall (e 6

a. He is here..la 35 50 5 c. | did the homework myself. <ilas Ul
Loy al sl 13a
b. This car is mine. Sk 3 lull 238 .d . Everyone came on time. sl geall
gl

Which of the following is NOT one of the types of pronouns?
¢ lecall g1 e g si ol S e g

a. personal pronouns .Ax=id ylexs | c. reflexive pronounsie\Sail ylaa

b. generic pronounsisle ylea d. indefinite pronouns.sasse & ylaa

OORules =g
We covered a number of grammatical rules in our lectures. The following is
an example:
The subordinating conjunction “that” is obligatory in a sentence when the
subordinate that-clause is a subject. For example, we cannot delete “that” in
the following sentence:
leale J&L;’L)Lgs L palaall 84 il o) @l (e 220 e Whaas
That-Clause &l o< 13 dlaall & 5 jbal 358l i) Calaall o a
A Al 8 ddds aodats Y JUal Jases e Jeldl s

“That the driver could not control his car is obvious.”
"oaal g el Al 8 aSay () adaiy A L) GllD i

JOSample Questions 4biul zigal

Which of the following that-clauses has an obligatory subordinating
conjunction. (48 axdaind YY) a P i calae o s apal QN Jaall (e Q_;i
a. That they had an exam last week was reason enough for the students
not to go on the trip.

Als Al ¥ G QOUall baiie L S ol £ sanll) LIS agl
b. The students didn’t know that Ahmed was not notified about the time of
the exam.

LAY < g ol (S ol deaf O 58 a0 ol U
c.The reason is that no one told him about it.
Ade o ) aal Y ol e )
d. They all noticed that he did not attend the exam.
LAY e ol 4l Y wseall ._/-),)

.......
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Finite Verbs 8agasall Juady)
* Finite verbs show tense, person and number.
Qaall g Jelal)l Jadll ey yedai 83 gasall Jladd)
» To see whether a verb is finite or not try to change the tense, person or
number in a sentence.
Aleadl L axedl g Jeldll | Jedl) ce ) urd yad Y al 3 saae el S 131 Lo 46yl
v' e.g 1.He is here today. He was here yesterday. (tense)
(Sl a) sl Ua 25a g0 IS 58 o gall Ut 252 90 g8 1 Jlia
v e.g. 2.He is walking. | am walking. (person)
(Je\l) aud Ul sy 2,2 Jia

v e.g. 3.The child has slept already.

The children have slept already. (number)
(221) Jadlly ) el JUlaY) Jdlly ol Jikall 3 Jlia

Heads and Modifiers <Yl 5 i 5l
* Before you identify the head and the modifier, you need to identify the
phrase first.

v e.g. The old man has an appointment with his doctor.

Asb e 2o e 4 Gl JaJl, Jla

In this sentence, we have 3 noun phrases, 1 verb phrase and 1
prepositional phrase. The noun phrases in the previous example are: “the
old man”, “an appointment” and “his doctor”. The verb phrase is the simple
verb “has” The prepositional phrase is the phrase “with his doctor” You'll
notice that the noun phrase “his doctor” is part of the prepositional phrase. It

is the object of the preposition.

4l Baaly all Cija dles ady Bas)p Alad dlea 4l dansd Jea 40l A3 Lol dleal) o3
Jrdll s Aledl) Alaall 4pd Mgl Mac s "Cpsall Ja U aa Gilad) JE) 8 daen) Jeal)
o "k eVl Alaall 4l o Badlin Mgl s o el Giops Ales 4ud " (@lliay) 4" Lol
A Jsrde ledaa s all o e 40 (e ¢ 3

:4.9')
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e An easy way that we can use sometimes to identify many noun
phrases is to try to change them to pronouns. For example, we can
change the previous sentence to:

pedsnd O Jslad ) (o pan) Jaal) 405 48 jaad Ul Lealatind gobaind il Algaadl 35k (g
r Y il e da Ll Al Josatl gdaios | JUa Jpoas e jilaa )

The old man has an appointment with his doctor.
He has this with him.

b go 52 ga 40 Gusdl) J )
Ana de a4l g8

* Now that we identified the noun phrases, we need to identify the head and
the modifiers. The head is a necessary element of the phrase, and the
modifiers are optional elements that add to the phrase.

e el EV a5 el 1 e Gt O gling Gpand) Jaal) 40l i 45 Hha U je Ll Lay

Alaall s I Ciliay (5 )la juaie jiiay Jaall g dleadl 40l (8 (5 )9
In the previous example, the heads of each noun phrase are “man”,
“appointment” and “doctor”. The modifiers include: “the,” "old,” “an” and
“his.”
S ar Yl g Mk 5 Mae s Mda I ab el dlas 0l US gy bl Al A
s M"owe""an” s “his”

+ All these modifiers come before the heads of each phrase, so we call

them premodifiers.
Al Y | sead A dles 4nd JS G J8 Sl Vel 238 aen

Note: The head is what determines the type of the phrase.
The head of a noun phrase is a noun or a pronoun (e.g. the man, we all).
The head of a prepositonal phrase is a preposition (e.g. with the doctor).
The head of an adjective phrase is an adjective (e.g. very good).
_M\@.&&)}q@u}mwbﬂ - ddaad
(03, da 0l i) pea sl aud 0585 L) Aeall 405 Gl h
(bl ae tdia) L oa G 5S5 al) G Aea Gl s
(1 2 1) Ada 0 5S5 Lba ) Aleal) 4nd Ll

v' e.g. 2.The headmaster of the school is here. He is here.

- . . = ST A el orven
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The head in this noun phrase is “headmaster’. The modifier “the” is a
premodifier because it comes before the head. The prepositional phrase “of
the school” comes after the head and functions as a modifier, so we call it a
postmodifier.
e ad el 50 U 0 40y Galos Jane 58 "M Jaaall " 500a" 5 o3 dpansY) dlaall i Gl
GaY e ey iyl aey 3 Jane o4 "Rl 0a" DAl G

Note: “The school” is another noun phrase in this sentence. It is the object
of the preposition “of” and also part of the first noun phrase “the headmaster
of the school”.
"Ga" all Cia goae oa s ALSH Aleall ada 3 (AT el Llen 4nd & M pad)" 1dBaM
M aal (e el ) Al Aleall 405 (e ¢ 3a Lial

Complements 4lasil)
v e.g. 1.The book is on the desk. (complement of subject)
(Jelall 40es) | o) e Ul g Jla
v' e.g. 2.Ahmed is very good at Mathematics. (complement of adjective)

(Aiall ALe5) il I 3 laa ua 2ea 2 ke

In example 1, we only have one complement: “on the desk”. This is the
complement of the subject +BE.

BEGsS: deb + Jelill AL e iy sl e :1aib saal 5 4Les Ll J o) Jlial) b

In example 2, we have two complements. The first complement: “ very
good at mathematics” is an adjective phrase, and it is the complement of
the subject +BE. The second complement “at mathematics” is a
prepositional phrase, and it is the complement of the adjective “good”.

Aia s iles 408 a5 "Clacal ] b laa wa" 1 1Y) AL il Ll | JEa 3
BE 058 Jad + Jelall 3L e i g
_"J:\.A"MMASSLG_CJ:\} ");LJ‘);:\JA;M‘;AJ"QL'AQJ\‘;" GA@L\]\AJASJ\

A”‘JAAJ‘AS
)

T
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Your success is our joy
A goal without plan is just a wish
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